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<p><strong></strong></p>

<h2 id="EAHEE" > <strong>EA S </strong> </h2>

<h3 id="{+4=2Java"> <strong>{+4=2 Java</strong></h3>

<p>**Java B— JHRNRMEES, MR T C++ ESHSMUR, E&FFT C++ BEELIR
RIZ4R. EEESS, B Java IESEARGEAEERZAMMFHE. Java IESEAESHR
SRS AIAR, TIFSCIl TEANSIES, RIFEFRUNENRYES T TERMNRE </
>

<h3 id="Java-SE--Java-EE--Java-ME" > <strong>Java SE . Java EE . Java ME</strong></h3>
<ul>

<li><strong>Java SE (J2SE, Java 2 Platform Standard Edition, #R#hRR) </strong>**<br>
**<strong>Java SE LAgIFR/9 J2SE, ERTFHFAFISEERHE. RSEE. SRANINEFILATIMEH
FAEY Java NIFHF2RF. Java SE B8 T x#F Java Web RBFFARIZE, F49 Java EE 1 Java ME #2{#t
fii, </strong></li>

<li><strong>Java EE (J2EE, Java 2 Platform Enterprise Edition, {®MAR) </strong>**<br>
**<strong>Java EE LABIFR/9 J2EE, TRAVARAEEIFFAFIEEIMBE. @it. IREELEiRS
i Java NFFERR. Java EE 27E Java SE FUERL FHO3EAY, TIRMH Web IRSS. AHHER, SBMNE
AP|, TJL ARSI RAIERIIRSEINERZ5¥S (service-oriented architecture, SOA) #1 Web2.0
NFfERs. 2018 &£ 2 B, Eclipse EfIETVIE JavakE &5 JakartaEE </strong> </li>
<li><strong>Java ME (J2ME, Java 2 Platform Micro Edition, f4&R) </strong>**<br>
**<strong>Java ME LARIFRI J2ME, Java ME ATERINESIIRARIRE (ELa0FHl. PDA, &
HUIREFFTENN) EiETaON ERRFRHE— MBI E RIEAIIAE, Java ME S3ERENAFRRE. #
HNZeRE, FEZRERREIMYARII BTG FEENENTIEL N EEFNFEST. &7 Java
ME %)”u?]@ﬁ’\JJEZﬁH%EF%RﬁF'%?ﬁE—m, MAILBTFEZRE, MBErULRBEMNMESHNATINEE. </str
ng></li>

</ul>

<h3 id="Javap4EampLL" > <strong>Java F4FmBEMLE < /strong> </h3>

<p><strong>Java EEE— Mo HANERNSRIES, EAEANSR. FELXM. @Rk, M
17. 2488, Ze2UEFESER, THIUXESRHITE—NE. </strong></p>

<p><strong> <strong>1. ERAXIF </strong> </strong> </p>

<p><strong>Java E—MHEMANRANES, BXIXNRPAIEL. xR, R, 395 25 O, €
ERIFRIS. AT7TEEER, Java RxFEz@AEgR, BETLAMERZOKIIIZHWE, fF
Java B ARER, EEXAERNSNEERITERIRESIE. </strong></p>
<p><strong> <strong>2. FETFT KM </strong> </strong> </p>
<p><strong>FELKMENEMNRETINAET, Java B "—XwES, EKME1T (Write Once, Run any
Where) " BUIES, EXRA Java ESHENEFEEGRFNAZENE, MRIBEX—=RIER Java
RIS, ESINEIZE, Java BEEANENFEE LEITAREEMMmE. </strong></p>
<p><strong>Java iIBS{#F Java EBHWWLEIFi 7 EARESEXER, F18 Java 15S5HIFAE
RF|EREIWL LB, MaLESMEE LA INESUtE T, </strong></p>
<p><strong> <strong>3. B </strong> </strong> </p>

<p><strong>Java IBEANEZES CI1IESH C++ E=SFER, FEREZSEFRFERRERS. X Jav
X, BERF JRE C++ HLURMRRMSE, WHRERNERFIZ4EE, mMA Java iIE5AMEH
£, A THARBIHNGI, BRTEFRSESENFNEM, (FRETEEMN™EE, </strong></
>

<p><strong> <strong>4. fEFFEHIT </strong> </strong> </p>

<p><strong>Java f£FfE Java FEIETRISHIRIFERF TR, REILIER Java IRIZAIERIE
%t bizfT, TR, Java RURBRERXIX L DI TRERIT, FUTIREPEEINANGIETE
PERE ARSI TINE S, </strong></p>

<p><strong> <strong>5. Z&FE</strong> </strong> </p>

<p><strong>Java IEEELLEN, XE Java IESH—XFE, BH4ME Thread EFEHNF
KEE, Java TS NIRRT, FHRHSSREZENRSHG., EH— EEEERCH run()
Tk, BHATRIZESTE run() I5iEEA, </strong></p>

<p> <strong> <strong>6. 9 </strong> </strong> </p>
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<p><strong>Java IB=37#F Internet NARNF A, £ Java WEARMN BREZEOPHE— MWLM
fRIEiEC], TIRHETMENBHENZEE, 81 URL. URLConnection, Socket &, Java 9 RIM
FIBEFARDHRNANEEFR, </strong></p>

<p><strong> <strong>7. @it </strong> </strong> </p>

<p><strong>Java RUEEEAHI. FEE, LOREIKHIHIEER Java @I HREERIE. X8
REFR Java —XiE, B, Java RIRETIHIEREITMERN—KEIL. </strong></p>
<p><strong> <strong>8. EEE</strong> </strong> </p>

<p><strong>Java RUSMREETEREXNEMSRMAES KR, BEE JIT (Justin Time) AR
Java U TIRE HEKHE. </strong></p>

<p><strong> <strong>9. &£ </strong> </strong></p>

<p><strong>Java BERKAEMEINES, Alt, Java RET—NLEHHILLLLEEREERBIE
b7 Java iIESEBITZHIRERELIN, Java RXTBITMEE FERIKIBIT— 22 eilsl, o
RRNEFELEARNREES, AES%LEEH. </strong></p>

<p><strong>Java IESHIRSHHEEEERSHREES P OBERANTZOE, Java IBEXIYR
XFFFISEAHY APl (ES4RIE TIEFREEMB 2 RE, AKEE TEFIF LKA, Javal "—X
5, F4HT EREWRSIRSERIMEARI—AME, </strong></p>

<h3 id="JDKF0JREFIJVMAIX5I" > <strong>JDK #0 JRE #0 JVM BIXFl </strong></h3>
<p><strong> <strong>1. JDK</strong> </strong></p>

<p><strong>JDK (Java SE Development Kit) , <strong> <strong> <strong>Java tRERIFFA
. TR, 517 Java EFATRENSF TEMRIE </strong> </strong> </strong>, &#F7T J
va JRi%8s. Java IZ(THIIE. LAREMRY Java %, </strong></p>

<p><strong> <strong>2. JRE</strong> </strong></p>

<p><strong>JRE (Java Runtime Environment) </strong><strong><strong>, Java izf7hY
15, FTHRENIT Java RIF DRI </strong> </strong>**, EBAFRFEZL JRE Ki=1T Java
BRI, MiFA—BREFRYMEEE DK, KmE. BAiiER. **</p>

<p><strong> <strong>3. JVM</strong></strong></p>

<p><strong>JVM (Java Virtual Mechinal) , Java E#I#l, & JRE F9—&B%. <strong><stron
><strong>BEE Java SLIMEEF SR </strong> </strong> </strong>, RASRMEREHRITFT
X, BriE(T Java FHREANAREMITEN. FrEFa Ll VM RiEREREHERNZED, MR
R B R E PR, ERREINIEERBIID, ASBREIMKERERIT, </strong></p>

<p> <strong>Z{FF Java JRiFESMmIF Java IZ2FE, £RRHNESFETXNFTD, XEFHBR
[ JVM, iRt </strong> <strong> <strong>JVM 21517 Java FHREHIELL. </strong></
trong></p>

<p><strong>AREFEEH VM 2REN, EEAIEMEE THERENEO, VM 2 Java EFEYS
KgEhy, REAFRFEESIN 7 HEENEI, FMFER Java FHIEHMELIEZFES LB T, </st
ong></p>

<p><strong> <strong> AHAEREFTIHE: </strong></strong></p>

<blockquote>

<p><strong>ff Java 7, JVM BILAERRAIRESHIAUE </strong> <code>FT5f8</code> <stron
> (BP Java IRRIBE IRV dRiFEEadmiE/a 8BS/ <strong><code>.class</code></strong>
X)) |, EAEEEHSENNERE, REREU. Java EEEEF LA, TEEE LR
TEFEREESHITHRERENER, BIfNRETHRIIESIBENSR. Ll Java BFET
tbiEzt, mE, BTFFPEAAEX—MTERIWEE, R, Java BFAMERRFENESTHA
BERAFTEN BB T, </strong></p>

</blockquote>

<p><strong> <strong>HAREFE: </strong></strong></p>

<blockquote>

<p><strong>FfriBEFaY, 218 java IESRENER, —XWiFaE, ALESIMRAYS LT
</strong></p>

<p><strong>CHUREE: Java FRRFRIBIT java EIWERSTA HETH, REZRGTIZE
RZRY java AL, ZRAHETLUEIT java 2, </strong></p>

</blockquote>

<p><strong> <strong>Java F2FNEEEIEITEE=2: </strong></strong></p>
<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
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com/file/2022/04/solo-fetchupload-6237621879298842152-4884662a.png?imageView2/2/int
rlace/1/format/webp"></p>

<p><strong> <strong>4. R4k </strong> </strong> </p>

<ol>

<li><strong>JDK FBFFF%, JRE BFizfT java i2F% ; MNRREIETT Java i2F, AILAR%RE JRE
ToF&%E JDK, </strong></li>

<li><strong>JDk 82 JRE, JDK # JRE &8 & IVM, </strong></li>

<li><strong>JVM 2 Java RIEIESHIZOABEBFESRM. </strong></li>

</ol>

<h3id="HARBEFat-REBEZMHA"> <strong>HARBEFEMH? [RER(tA</strong></h3>
<ul>

<li><strong>FriBEFaY, 218 java IESRENER, —XWiFaE, ALUESTRAYS LT
</strong></li>

<li><strong>LHRIE: Java IEFREY java EIWERSGFE LIETHY, RBZEFA LR
Fiﬁ’ﬂl java EBHN, ZERMATLUELT java FEFF. </strong></li>

</ul>

<h3 id="Oracle-JDK-#1-Open)DK-gI¥JEt" > <strong>Oracle JDK #1 Open)DK gI%JEt </strong>
/h3>

<ul>

<li> <strong>Oracle JDK lAEE=FA%H—IX, T Open)DK fRAF=1BAFH—IR; </strong
</li>

<li><strong>Open)DK E— M SEERHBEIEZEFER, m Oracle JDK & Open)DK fJ— sE
. AARRTEFRR; </strong></li>

<li><strong>Oracle JDK Et, OpenJDK EfaiE, Open)DK # Oracle JDK BXFB/LF4ER, {8 Orac
e IDK BEZRRN—EEIRIEE., AL, tNREBFAE/mEERY, FREINEERE Oracle JDK
EABEE 7 HRAURARRE, FEER T, B2 ARSEEER Open)DK AJgeRIBE TSN
FrEEimROERR, B2, RFBIRE Oracle IDK FETLUBRREIRR; </strong> </li>

<li> <strong>fENAREF] JVM H4EE/5E, Oracle JDK 5 Open)DK 1HEUIR ML 7 EEFAIMRE; </stro
g></li>

<li><strong>Oracle JDK A= ARMERMRINRAREIKEASZS, APEREY R B2k
SRIGSFHRIRENEFTRA;  </strong></li>

<li><strong>Oracle JDK 1R HEIUCHEFTMYIREIFE, M Open)DK 1RIE GPL v2 FaI3k1E
Aa], </strong></li>

</ul>

<h3 id="JavaflC--BYX 3" > <strong>Java 1 C++ AIXFI </strong></h3>
<p><strong>FAERZAIRFY C++, EREAEMBKE=NXENE] Java #1 C++ LLIF! I8
=D giEREE C++, BEICK! </strong></p>

<ul>

<li><strong>EEEEXRANES, ETFE=. RS </strong> </li>

<li><strong>Java NMRAHEIREZDEARE, EFREFEMNZE </strong></li>
<li><strong>Java BUREBEYER, C++ SHFZEMWK, B/ Java BIEATTLAZHE, (B2EO
LAS4ix, </strong></li>

<Ii>|<strong >Java BEAINGFEEIG, THEEFRFIRERIANTF</strong></li>

</ul>

<h3 id="f+4Javaj¥®®" > <strong>{t+4 Java ;8% </strong></h3>

<p><strong> <strong>ENX </strong> </strong>**: HAFHERRERZEFRIINFE*</p>
<p><strong> <strong>%3z& </strong> </strong></p>

<ul>

<li> <strong>B17iEFE < /strong>**<br>

g /) RS < /i

<li> <strong>Z17iFFE </strong>**<br>

e &I /FIERNE <em>/</em>*</li>

<li> <strong>#;FRE < /strong>**<br>

ek &I /ERXE <em>/</em>*</li>
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</ul>

<p> <strong> <strong>{EF3</strong> </strong> </p>

<ul>

<li><strong>fE2FH, THESFRIERFTD, EXMIMNERTLUBINEFRIAISY, BFTE
AOERL. JERAIATR. IERRIABEREFmFIIHEER2M, Aar-EBRNE, RO
Ef‘%‘lﬂ’ﬂim-'f%%F$1EEﬁ%ﬂl‘rﬂo </strong></li>

</ul>

<p><strong><strong>FEEI: </strong> </strong>** ST TRFEBRERREEA. **</
>

<h3 id="JavafE 2 AIHITHY" > <strong > Java FEFRE A TAY < /strong> </h3>
<p><strong>FAEBRITIERERERFF AL TE (Intelli) IDEA BY Eclipse &) AJLUMRISERIAEN
FF, & EBEI T TRIBMBiIEAAK jar 85#E war 8, K Tomcat & Web BeshFia]LAEE
177, BFREREEE Java EFARENTHRITH? EXNESRAFATREPZITIAZE Tomcat
i@?li, Java EFHIHUTIIEEAEZEEN, BRIPUTAZWT: </strong></p>

<ul>

<li><strong>5cit Java RIBRIEHFTE, I java FEERIHRIER class SRR,
MIFRRIABBITIAAZ: Java RIS -&gt; IEiEDHTES -&gt, iIEEDHTES -&gt; iIBX s -&gt;
FHBERMES -&gt; &REBEMFTHE, EPMEA— T RIUTRMASIENRIERY; </strong></li>
<li> <strong># class 4REZ! Java N, XMEIANIERTERIZ Oracle E7ZBEHH Hotspot
JVM; </strong></li>

<li><strong>Java FEHIHERZENNEES (Class Loader) ## class 3f4; </strong></li>
<li><strong>RMBFTAZ G, SFHTF LN, FLRMILEIE /G VM EERSICF 08
R RRRE R IR ER ST, (EARRFTENIEEREMARERITY, JVM S 74, tean, LA Hotsp
t RIMWER, EARSRMET JIT (Just In Time) WHEK(IBEEMRNISHRERE, BoeBEiET
4%?|&ﬁﬁﬁ%éﬁi§79m%§ﬁ%, XAMHEFTSRBFHATL 7 miFMIT. Java FBFHITAIZEINT: </strong
</li>

</ul>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2022/04/solo-fetchupload-1619352028290462726-4620e22d.png?imageView2/2/int
rlace/1/format/webp"></p>

<h2 id="EmER5" > <strong > EAitiZRy </strong> </h2>

<h3 id="instanceof-&E=AIER" > <strong>instanceof X§EFAIEFA </strong></h3>

<p> <strong>instanceof P&kt 2 Java FRI—PNBEER, AEUH— I NREE—1E
stfhl, AiEA: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">&nbsp;boolean result = obj instanceof Class

</span></span></code></pre>

<p><strong>HEH obj I— XK, Class Tox—PEREHE—NMED, = obj A Class RIS, 5
BHEEWNEE L, SEREEONLIZE, SR result #BRME true, BRUIRME false, </strong
</p>

<p><strong>IE: RFHINE obj EERALIEMALAY class KB, INRARHEIENEEARE
SNRABEHAERE, NiEdYwiE, BAEIZTIIE. </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;inti = 0;

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;System.out
printin(i instanceof Integer),//fERBIY I/RES AR, TRERBEAKE
</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printIn(i instanceof Object);//fwiFEAEL

</span></span></code></pre>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;Integer integer = new Integer(1);

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;System.out
printin(integer instanceof &nbsp;Integer);//true

</span></span></code> </pre>
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<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;//false  1E JavaSEHLE X7 instanceof IzEMFAIILERZE: 20K obj 3 null, P4
IR[A] false,

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;System.out
printin(null instanceof Object);

</span></span></code> </pre>

<h3 id="---f0-equals-HIXBIE{+A4-"> <strong> == F] equals BIXFIZtA? </strong></h3>
<p><strong><strong>"=="</strong> </strong></p>

<p|> <strong>XJFEARSEMS|ARE == BEARERERAEN, WTA7R: </strong></p>

<ul>

<li><strong>EARKH: LHIRKZEEEMERE, </strong></li>

<li><strong>3|FAEAL: HWWRRIZSIRRESGHER, </strong></li>

</ul>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;String x = "string”;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;String y =
string”;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;String z =
ew String("string");

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printin(x==y); // true

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printin(x==z); // false

</span></span> <span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printin(x.equals(y)); // true

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printin(x.equals(z)); // true

</span></span></code> </pre>

<blockquote>

<p><strong>EA x fl y IEMBER—151A, FLA == B2 true, M new String()7ZZNESFH
TRE=E, LA == 255879 false, T equals EUIRRI—ER(E, FrLAERES true, </strong></
>

</blockquote>

<p><strong> <strong>equals</strong></strong></p>

<p><strong>equals XFEEFHE ==, RAT String #1 Integer EEE T equals J5i%, IBEZA
Bk, ETEACEBEBEET. </strong></p>

<p><strong>BEFKERIABR T equals EER— M EHEEERINISR, R8I </strong></p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;class Cat {

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp; &nbsp; &
bsp;public Cat(String name) {

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp; &nbsp; &nbsp;this.name = name;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; }
</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;
</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp; &nbsp; &
bsp;private String name;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;
</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp;public String getName() {

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp; &nbsp; &nbsp;return name;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; }
</span> </span><span class="highlight-line"> <span class="highlight-cl">&nbsp;
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</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp;public void setName(String name) {

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp; &nbsp; &nbsp;this.name = name;

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; }
</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;}
</span></span> <span class="highlight-line"> <span class="highlight-cl">&nbsp;
</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp;Cat c1 = n
w Cat("HRRK");

</span></span><span class="highlight-line" > <span class="highlight-cl">8&nbsp;Cat c2 = n
w Cat("HHREK");

</span></span> <span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
println(c1.equals(c2)); // false

</span></span></code></pre>

<p><strong>FHERHFR(INER, ZAR false? XEEAMEE, BT equals [RIBFIEIE T
IRIBE0T: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">&nbsp;public boolean equals(Object obj) {

</span></span><span class="highlight-line"> <span class="highlight-cl">&nbsp; &nbsp; &
bsp; &nbsp; &nbsp;return (this == obj);

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;}
</span></span></code> </pre>

<p><strong>JE3Xk equals AR EFME ==, </strong></p>

<p><strong>FPEIFEK T, B MEENERY String XI5, FHARERIZE true? EBINITF: </stron
></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">8&nbsp;String s1 = new String("H=+F");

</span></span><span class="highlight-line"> <span class="highlight-cl">8&nbsp;String s2 =
new String("M=F");

</span></span> <span class="highlight-line"> <span class="highlight-cl">&nbsp;System.out
printin(s1.equals(s2)); // true

</span></span></code></pre>

<p><strong>@EHERY, HFATHNA String B9 equals 753%, HETEZR, KRBT : </strong></
>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public boolean equals(Object anObject) {

</span> </span><span class="highlight-line"><span class="highlight-cl"> if (this == anOb
ect) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> return true;
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> if (anObject ins
anceof String) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> String anothe
String = (String)anObject;

</span></span><span class="highlight-line"> <span class="highlight-cl"> int n = value.
ength;

</span></span><span class="highlight-line"> <span class="highlight-cl|"> if (n == anot
erString.value.length) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> charv1[] =
value;

</span></span><span class="highlight-line"> <span class="highlight-cl"> char v2[] =
anotherString.value;

</span></span><span class="highlight-line"> <span class="highlight-cl|"> inti=0;
</span> </span><span class="highlight-line"> <span class="highlight-cl"> while (n--
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=0) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (v1[i]
= v2[i])

</span></span><span class="highlight-line"> <span class="highlight-cl"> return
false;

</span></span><span class="highlight-line"><span class="highlight-c|"> i++;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> return true
</span></span><span class="highlight-line"> <span class="highlight-cl"> }

\

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<p><strong>/EkZ String E5 7T Object By equals 73i%, fE5IRLLREAL TELLR. </strong>
/p>

<p><strong> <strong>&45 </strong> </strong> </p>

<p><strong> <strong>== XWFERLEKIHEEER, XTF5IERERRENIRAVZSIA; M eq
als BUABR FE3IALR, REMRSEFH T equals /5i%, LN String. Integer HBEEERL 71E
B, FrA—RRIERT equals EERAIR(EREEZE, </strong></strong></p>

<h3 id="{tARjavaFFFL-afaIscijavaFFliL s & i5iERESerializableZ RIE-" > <strong >
452 java FFHML, AMASEIR java FRHIML? EiETBARRE Serializable #ORYEA. </strong></h3>
<p> <strong>FAVEEHEIE— java WHRBMF TR IUEHEZHEN—NFHRPIRER— )
va XJ5R, g, FIE java WRFERIBEREEEXEME FREMTTEN, XPMEEHAITLIES
BEB— java MREAFE MSTRIFTImEER, </strong></p>

<p><strong>{BE, jre AEHRM TIXFIZF:, FKAIETLAER </strong> <code>OutputStream<
code> <strong>f{</strong> <code>writeObject</code> <strong>7E3%fM, MNRELL java
A, ERERRIRTSIASEIl < /strong> <code>serializable</code> <strong>#&E[, X#E, |
vac JRIFAIEAH TR R, HmEHIRA LA </strong> <code>writeObject</code> <stron
>TARE, XHEFMBRIFII. FEWFFIHRIRREEL </strong> <code>Serializable</co
e> <strong>#0, ZEOE— mini 0O, HEFREFEELISZE, implements Serializable
BT IRNEZSRER LRI, </strong></p>

<p><strong>{lgN, £ web FFEH, WNRIISHIRIFE S Session 1, tomcat FEEZHTEIE Sess
on WEFYICEIRER, XMW ASLIL Serializable #0, MIRNSRELZ IS HRAERFHITM
&, HITHMAIISRHLINSLIN Serializable M. </strong></p>

<h3 id="Hashcodef9{EF3" > <strong>Hashcode BI{EF </strong></h3>

<p><strong>java FEGHERWE, —KR List, FE—XE Set, RIEEFIES, FELFAE

. ST E set PBAREHEEAFIMTEBCEFEZITER, FJLUET equals 7374, B2RTT
K%, FAIXENGERRE . </strong></p>
<p><strong>FEEAKATIEEETRESSESTERITRATE, XMAOIVEESDRET
X, SNNRTLATEH— MRS, TLUSIRBIESH, SESINNENFEXE, RiE—
XIRANE A IO AT LB R Z 7 ERIBR N X%, </strong></p>

<p><strong>hashCode 75;ARILAX % . EiRENHMERENSRIOAFEEIHEE HIN—ME,
Bk, SESEMNFAITERN, SSRAXNITERER hashCode 757X, #i— N FREEMEICIZIX
AR E . MRXMIBELRETTER, BEMLEREFEEXMIE L, FAEBH TR T
WRXMIE LELRBTERT, MARER equals TixSHTRHTILR, HEMNERAEFT, &
BEREFIEERMb, XE—FRSLREAR equals IFERNREFAKIHE Y, JIFRFE—MIR, </st
ong></p>

<h3 id="F1™I5AY-hashCode---1H[E--BBA-equals---tB—xEA-trueld-" > <strong > PRI
ashCode() #E, HB4 equals() th—EA true I3? </strong></h3>

<p><strong>Axt, MIXIHRM hashCode() #H[E, equals() ~—3E true, </strong></p>
<p><strong>{La3=M5: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">String str1 = "keep”;

}

return false;

\%
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</span></span><span class="highlight-line"> <span class="highlight-cl">String str2 = "bro
her";

</span></span><span class="highlight-line"> <span class="highlight-cl">System. out. print
n(String. format("str1: %d | str2: %d", str1. hashCode(),str2. hashCode()));
</span></span><span class="highlight-line"> <span class="highlight-cl">System. out. print
n(str1. equals(str2));

</span></span></code></pre>

<p> <strong>HfT4ER: </strong> </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">str1: 1179395 | str2: 1179395

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">false
</span></span></code></pre>

<p><strong>fCIBHFE: RES "keep” F1 “brother” Y hashCode() #H[E, #AM equals() MJg f
Ise, EATEEGIFRSF, hashCode() HEFRIR MBEXNIGHREES, AMIEHENRSE, HA—EsE
HEEXIEZF, </strong></p>

<h3 id="ZBLERFR"> <strong>Z B E R </strong> </h3>
<p><strong>Z8E Java SE 1.5 Z5AWFMHE, (Java OFAR) XHZEENE: </strong><
p>

<blockquote >

<p><strong> "Z8" EHRERSHINIEEILIMAERERIRISTER. </strong></p>
</blockquote>

<p><strong> "ZB" , MBEN, "ZIERIRE" , BAURH TIZERIHS, (BERHFITRIEE
AT LABEARRIHINISRLIER, thanEiIBeIIERESHI ArrayList FEENZEZE, Arraylist {EAESTILL
MEMITE, U Integer, String, BEENMAISMEEE, (BER(ERRIEHERET BIRATRNISRLTR
INFATTLAARESHRF Integer ZRBUTTER, d</strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">List&lt;Integer&gt; iniData = new ArrayList&lIt;&gt;()

</span></span></code> </pre>

<h3 id="ERZEHIIFLE-" > <strong > ERIZEIAIIFLE? </strong></h3>
<p><strong>LISEEHREM, ERZERIFEEINAUEARITTERENARIME X ARRE
£5, MERESX, FREESE FHBRESE, BNYUEN —EEREHER. FRE,
FFEREUEE, MIXAAEREEN, FRABRMNRABEREFMHIRE T Object BIF], HRIIFEIREER
B][E)_E3A Object, HEZRIZRIAITLABITMNIRERE SHEEEHITFMEREUESEEL. </stron
></p>

<h2 id="#U4E¥E"> <strong > #IEZEA < /strong> </h2>

<h3 id="JavaBBLEEHESEEL" > <strong>Java BIPLLEHESEEY < /strong> </h3>
<p><strong>Java</strong> <strong> <strong>H1</strong> </strong> <strong>#H 8 FHEZX
YB3, DBl </strong></p>

<ul>

<li><strong> <strong>6 FEIFER (IO NEETZ, WINFEREL) </strong> </strong> <strong
. byte, short, int, long. float, double</strong></li>

<li> <strong> <strong>1 F=FFEE < /strong> </strong>**: char**</li>

<li> <strong> <strong>1 f#/RE </strong> </strong>**: boolean, **</li>

</ul>

<p><strong> <strong>byte: </strong></strong></p>

<ul>

<li> <strong>byte HUERELE 8 fiI. BRFSHY, LATHBIRMIFRRIEEEL, </strong></li>

<li> <strong>&/MER <strong><strong><strong>-128 (-277) </strong> </strong> </stro
g>,; </strong></li>

<li><strong>&K{ER <strong><strong><strong>127 (2/7-1) </strong> </strong> </stro
g>; </strong></li>

<li> <strong>2BAIAER <strong> <strong><strong>0</strong></strong> </strong>; </stro
g></li>

ESZ4ERE: Java ERETR S


https://ld246.com/article/1649668122432

<li> <strong>byte FEIRAEARTEAFTATHE, TERERL, FEh byte TEHANZTHERE in
KA Z—,; </strong></li>

<li><strong>fl+: bytea =100, byte b = -50, </strong></li>

</ul>

<p><strong> <strong>short: </strong></strong></p>

<ul>

<li><strong>short ZHEREIZ 16 2. BFRFSHIATHEIMIRRIEE </strong> </li>

<li> <strong>&/MER <strong> <strong><strong>-32768 (-2715) </strong></strong> </st
ong>; </strong></li>

<li><strong>&&K{ER <strong><strong> <strong>32767 (2”15 -1) </strong></strong></
trong>; </strong></li>

<li> <strong>Short #HEREBAILUE byte AFTETA. — short TER int L EHTH
“Hz—; </strong></li>

<li><strong>2RIAMER <strong> <strong> <strong>0</strong> </strong> </strong>; </stro

g></li>

<li><strong>fl+: shorts = 1000, shortr =-20000, </strong></li>
</ul>

<p><strong><strong>int: </strong></strong></p>

<ul>

<li><strong>int #IEREIRE 32 {4, BFFSHLATHEAMIRIAIEELL, </strong></li>
<li><strong>&//MER <strong> <strong> <strong>-2,147,483,648 (-27°31) </strong> </stro
g></strong>; </strong></li>

<li><strong>&KX{ER <strong><strong><strong>2,147,483,647 (2731 -1) </strong> </st
ong></strong>; </strong></li>

<li> <strong>—fZHBEERVTZEEIAN int 388Y; </strong></li>

<li><strong>2RIAMER <strong> <strong> <strong>0</strong> </strong> </strong> ; </stro

g></li>

<li><strong>fl+: inta = 100000, int b = -200000, </strong></li>
</ul>

<p><strong><strong>long: </strong></strong></p>

<ul>

<li><strong><strong>iF&=: Java BfE long XENHIE—EEEHEREINL L, SNBIES
BYEEHT </strong> </strong> </li>

<li><strong>long #IERERE 64 (1. BFSHILATHBMIRTHIEESL, </strong></li>
<li><strong>&//MER <strong><strong> <strong>-9,223,372,036,854,775,808 (-2763) </st
ong> </strong></strong>; </strong></li>

<li><strong>&X{ER <strong><strong> <strong>9,223,372,036,854,775,807 (2763 -1) </s
rong> </strong></strong>; </strong></li>

<li><strong> XFhRB F EBFRTEEEVIRABHIR S £, </strong></li>

<li> <strong>2BAIAER <strong> <strong><strong>0L</strong> </strong> </strong>; </str
ng></li>

<li><strong>flF: long a = 100000L, Long b = -200000L, </strong>**<br>
“*<strong>"L"BIS EADKNG, BRESH'I"BZ58F"1"8BiE, ~8200. UKRFASE.
/strong> </li>

</ul>

<p><strong> <strong>float: </strong></strong></p>

<ul>

<li><strong>float #IERAIZEREE. 32 iI. F5 IEEE 754 FRAERYZAEL, </strong> </li>
<li> <strong>float EEFAELIZREENMERI ERETIE; </strong></li>

<li> <strong>BRIAER <strong> <strong> <strong>0.0f</strong> </strong> </strong>; </st
ong></li>

<li> <strong>F I REFRFRTASHBAYE, WEEM, </strong></li>

<li><strong>f+F: float f1 = 234.5f, </strong></li>

</ul>
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<p><strong> <strong>double: </strong></strong></p>

<ul>

<li><strong>double FUELRBZEXUIEE. 64 fii. fFS IEEE 754 tRERFEREL, </strong> </li>
<li> <strong>ZmEHIZIAZEEL S double 2£8Y; </strong> </li>

<li><strong>double KB EHEARGERTMERAVE, WETH; </strong></li>

<li> <strong>ZRIAER <strong> <strong> <strong>0.0d</strong> </strong> </strong>; </st

ong></li>

<li><strong>flF: double d1 = 123.4, </strong></li>
</ul>

<p><strong><strong>char: </strong></strong></p>
<ul>

<li> <strong>char B E—1E—fY 16 {if Unicode =fF; </strong></li>
<li><strong>&//MER <strong> <strong> <strong>\u0000</strong> </strong> </strong> (
73 0) ; </strong></li>

<li><strong>&X{ER <strong> <strong> <strong>\uffff</strong> </strong> </strong> (B
65535) ; </strong></li>

<li> <strong>char RSB LAEF(EAI=ERF; </strong></li>

<li><strong>f5l-: char letter = 'A’; (<strong> <strong> <strong>H&5|5 </strong> </strong
</strong>) </strong></li>

</ul>

<p><strong> <strong>boolean: </strong> </strong></p>

<ul>

<li> <strong>boolean F¥EREIFRRT—ANER; </strong></li>

<li><strong>RERWNEYE: true 1 false; </strong></li>

<li> <strong > 1XFER QIEA—FFRERICS true/false &R, </strong></li>
<li><strong>2RIAER <strong> <strong> <strong>false</strong> </strong> </strong>; </st
ong></li>

<li><strong>fl+: boolean one = true, </strong></li>

</ul>

<p> <strong> <strong>iX/\FEAREBEETMNAIE LSS50/ Byte. Short, Integer, Long,
loat, Double, Character, Boolean</strong></strong></p>

<table>

<thead>

<tr>

<th> <strong>ZEEIFFR</strong> </th>

<th><strong>=15, {i#f</strong></th>

<th> <strong>#&/J\ME </strong> </th>

<th> <strong>fA{E</strong> </th>

<th> <strong>2AIAE </strong> </th>

<th> <strong>#jl+</strong> </th>

</tr>

</thead>

<tbody>

<tr>

<td> <strong>byte 73 </strong> </td>

<td><strong>1 =73, 8 fii</strong></td>

<td><strong>-128 (-277) </strong></td>

<td><strong>127 (2°7-1) </strong></td>

<td> <strong>0</strong></td>

<td><strong>byte a = 100, byte b = -50</strong> </td>

</tr>

<tr>

<td> <strong>short (828! < /strong> </td >

<td><strong>2 =15, 16 {i</strong></td>
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<td><strong>-32768 (-2715) </strong></td>
<td><strong>32767 (2715-1) </strong></td>
<td><strong>0</strong> </td>

<td> <strong>short s = 1000, short r = -20000</strong> </td>
</tr>

<tr>

<td> <strong>int #fZ</strong> </td>

<td><strong>4 =15, 32 {i</strong></td>
<td><strong>-2,147,483,648 (-2731) </strong></td>
<td><strong>2,147,483,647 (2731 -1) </strong></td>

<td> <strong>0</strong> </td>

<td><strong>int a = 100000, int b = -200000</strong> </td>

</tr>

<tr>

<td> <strong>lang %8 </strong> </td >

<td><strong>8 735, 64 {i</strong></td>

<td> <strong>-9,223,372,036,854,775,808 (-2"63) </strong></td>
<td><strong>9,223,372,036,854,775,807 (2763 -1) </strong></td>
<td> <strong>0L</strong> </td>

<td><strong>long a = 100000L, Long b = -200000L</strong> </td>
</tr>

<tr>

<td><strong>double SUSE </strong> </td>

<td> <strong>8 =15, 64 {i</strong></td>

<td></td>

<td> <strong>double FERIEIFAREERMEFEANE, 05 </strong> </td>
<td><strong>0.0d </strong> </td >

<td> <strong>double d1 = 123.4</strong> </td >

</tr>

<tr>

<td> <strong>float BR¥EE </strong> </td>

<td><strong>4 =15, 32 {i</strong></td>

<td> <strong > EtEF KB Z mEV AR ZERT S EWNFE=E < /strong > < /td >
<td> <strong> ARG HEERNERHIE</strong> < /td>

<td> <strong>0.0f</strong> </td>

<td><strong>float f1 = 234.5f</strong> </td>

</tr>

<tr>

<td> <strong>char ZFf&F</strong> </td >

<td><strong>2 735, 16 {i</strong></td>

<td> <strong>\u0000 (BP9 0) </strong></td>

<td> <strong>\uffff (Bf9 65,535) </strong></td>

<td> <strong> A LMEF(EEIFRF </strong > </td >

<td> <strong>char letter = 'A’;</strong> </td >

</tr>

<tr>

<td> <strong>boolean 7Rk </strong> </td>

<td> <strong>iR[A] true #1 false I ME</strong> </td >

<td> <strong > XFhSER FWEA—FRESRICR true/false 1&)%; </strong></td>
<td> <strong>REFWMNEYE: true # false; </strong></td>

<td> <strong>false</strong> </td>

<td> <strong>boolean one = true</strong> </td>

</tr>

</tbody>
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</table>

<h3 id="Java® 5 | BEUEREEML- S SEATRRELEHAKE-"> <strong>Java #15 | FBEUE

BEEL, SISERFERBEEHAXE)? </strong></h3>

<p><strong>5|AEHERELS 3 F: K, O, FE; </strong></p>

<p><strong> <strong> &K%, RENEEALIESREL RS | HEUERE. BMBIBHAARER

</strong> </strong></p>

<p><strong><strong>1, MEEITER </strong> </strong></p>

<p> <strong> 1, EAREIERE TERIEREARRIEYE </strong> </p>

<p><strong>2,5 | BEIEEE TER A EIEMERIEE MEIERFEIENAFEIL, B AT hash

</strong></p>

;_%%itror}g ><strong>2, MATFAERE S ERIR </strong > </strong>**(R7Fh, BHEAFFE
=2 *</p>

/< p><stro n/ 9> 1 EARLIERE B EIERN AR AFEP BRI D H— NN E FBEEFETEZNESP.
strong></p>

<p><strong>2,5 | BEIESEE I EIERN, B ok NFH o i — =8 REEHEREF B —

BB FEREFEEIENEMNMEE BD hash (B RS H&EH5 | BigAEHAAIRISIELIE. </strong > </p

<p><strong> <strong>Z&MjilF < /strong > < /strong> </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> / /B AEYREBUF T Z B E R A

</span></span><span class="highlight-line"> <span class="highlight-cl">public class Main{
</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo
d main(String[] args){

</span> </span><span class="highlight-line"> <span class="highlight-cl"> J/EAREEES

</span></span><span class="highlight-line"> <span class="highlight-cl"> inti=1;
</span></span><span class="highlight-line"> <span class="highlight-cl" intj=1;
</span></span><span class="highlight-line"> <span class="highlight-cl"> doubled =1
2;
</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line" > <span class="highlight-cl"> //5 | &R

\%

</span></span><span class="highlight-line"> <span class="highlight-cl"> String str ="
ello”;

</span></span><span class="highlight-line"> <span class="highlight-cl|"> String str1=
Hello";

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2022/04/solo-fetchupload-12764020628633242816-246¢1f54.png?imageView2/2/in
erlace/1/format/webp"></p>

<p><strong>HMH_FEAM, EXLREREFLEFERMER 1, M5IREEEHASEFEHREN
B, </strong>**<br>

**<strong>{Ra0"hello"#I5 | AAHEUER xxxxx1, FEEA str LEFEM(E"hello"SLFr EFUEILL str &
7 "hello"FIRTAELL, XPMRFUFEEERTT, BASKER, SBREIREE str1 i
TH{E79"hello"BY, RIS EMRFHEIREESE hello" XMk, WNRERFHEEFEX D
T, BIASEROEET, MLl strl TEWIEM xoxx1 XM, INRISHENE, MaEhtlE—
HulkE str1 TE, </strong></p>

<p> <strong> <strong> MERESENIR </strong> </strong> </p>

<p><strong> 1 EAREIERELHITEUEREESE, A </strong>=<strong>F!=#lf, </strong>*
<br>

2,5 | REURREL ISR RGBS, A equals(73ik, *=""#!=2tLREER. T equals()73ik
EEEATABIERT, **</p>
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<p><strong> <strong>%p7t: EHESEELEIFEAYEN </strong> </strong> </p>

<ul>

<li> <strong>WNREFRELGHER int, FovVINELER double; </strong></li>

<li> <strong>NREfHIA BHEEFHRE R (BiRF) A/MA long; </strong></li>
<li> <strong > ANRELIMASIEBEE IRASEEIRER byte; </strong></li>
<li><strong >R ELINLZIEREF], BJLAER booleam; </strong> </li>
<li><strong>WNREB(EAPL, R char BERHPIED; </strong></li>
<li><strong>NRIZBRFCE: byte &lt; int &lt; long &lt; double; </strong> </li>

</ul>

<h|3 id="--JavaRyPuFh5 | F3-38554KkE---">**Java RYPUFRS |, 3BS5REE **</h3>

<ul>

<li>

<p> <strong>3&5|FH </strong> <br>

<strong>325|BEFEPEARSHSIA, B3IBEEFREFEAE (OOM) HIEHEBASHEILL,
BB </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">String str = new String("str");

</span></span></code> </pre>

</li>

<li>

<p><strong>#5|f</strong> <br>

RS | RERERREARE, SWEN, ERGI M </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">//FR: wiiX5IBEESIA, BREfERSoftReferenceiX MI5AT,
</span></span><span class="highlight-line"> <span class="highlight-cl">// XEBRI%X5 | Bi5
Zi8Mmnew String("str")AY5|H, tBHLESoftReferencezsdT

</span></span><span class="highlight-line"> <span class="highlight-cl">SoftReference&lt;
tring&gt; wrf = new SoftReference&lt;String&gt;(new String("str"));
</span></span></code> </pre>

<p>**TEHR: BIREFAIINER, SIZANSRIHERFT, SREARE, VM BiEEUTRE
HIRIER, *</p>

</li>

<li>

<p><strong>5§§5|f</strong> <br>

<strong>355|FMRERE JVM LIKEINRAIN TE, MG BUL, E/RG: </strong></p>
<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">WeakReference&lt;String&gt; wrf = new WeakReference&lt;String&agt;(str);
</span></span></code></pre>

<p>** <strong><strong> <strong>w]fiH= " </strong></strong> </strong> Java JRFZHAY*
<code>java.util. WeakHashMap</code> <strong>Hfi</strong> <code>key</code> <stron
>HREMAEE5 1A, FAVERERE, —BRAFERENSIA, VM 2BHE8HAEE, XFERHMAE
HEEEF, </strong></p>

</li>

<li>

<p><strong>RE5|f</strong> <br>

<strong>RZ5 | FARIEIKNHIERSSS IFAEARZ, (EREHEIZHEI, SWHIA </strong> <code>Refe
enceQueue</code> <strong>/, FEB, HESIFAEHE JVM BIKEAHIEN</strong> <code
ReferenceQueue</code> <strong>mRy, BHFXMIE, ATLARES |IFAXSH# AT | FHEERRIAE
T1E, *EHZ, REsS|IBEIENITR, ©IiHH </strong> <code>ReferenceQueue</code>**,
R+ **</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">PhantomReference&lt;String&gt; prf = new PhantomReference&lt;String&gt;(new String(
str"), new ReferenceQueue&lt;&gt;());

</span></span></code> </pre>
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<p>*AJAER: NRIEREIA—LEE, IIRERENSE. ****<code>Object.finalize()</cod
>** BIRBATLMMIXZEE, (BRI B AZ2 XEH **</p>

</li>

</ul>

<p>** <strong><strong> <strong>_LiFFRAILES A, ERENRASHISIA, MARE</str
ng> <code>Reference</code> <strong>HIPUNFRA95|FH(</strong> <code>SoftReference <
code> <strong>%), </strong></strong></strong> **</p>

<h3 id="Bal3=E 5" > <strong>BahEigSiFfE </strong> </h3>

<ul>

<li> <strong> <strong>#&5g < /strong > </strong>**: IGEALRIFE( I NS | BB E IR
**</|i>

<li><strong> <strong>1F#g </strong> </strong>**: (GEESEREHABEAREIESEY; **</li>
</ul>

<h3 id="int-#1-Integer-BAKXZ|"> <strong>int ] Integer HHARXEI</strong></h3>

<ul>

<li><strong>Java E—MNAPATHHERANRREES, BENTRENSEERSINTERLE
B, BRATREBEXLEERIERIUAISIRIE, Java AE— N EREUIERIERS IN TNAE
KB (wrapper class) , int FIRZEHZ Integer, M Java 5 FHASINT BofiEsia/iFfaHE, &
—EFLIEERR, </strong></li>

<li><strong>Java AENRIGREURM TRAREEL: </strong>

<ul>

<li><strong>[F5358Y: boolean, char, byte, short, int, long, float, double</strong>
<ul>

<li><strong>f%£281: Boolean, Character, Byte, Short, Integer, Long, Float, Double</
trong></li>

</ul>

</li>

</ul>

</li>

</ul>

<h3 id="Integer-a--127-5-Integer-b---127f8%M3" > <strong>Integer a= 127 5 Integer b = 1
7 HBFE < /strong></h3>

<ul>

<li> <strong>XFXIR5|FAEE: ==WRINEXNRIINFIBIL, </strong></li>
<li><strong>XFEAHIEEE: ==tURNZEE, </strong></li>

</ul>

<p><code>NREBFEMEAYEFE-128F/1272/8), APABEmNEMEEIA=newHiRlIntegersds, M
BiESIEERPHIntegerxds, @ISEE al==b1RIZRE alse</code> </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public static void main(String[] args) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> Integer a = new
Integer(3);

</span></span><span class="highlight-line"><span class="highlight-cl"> Integerb = 3; /
&3 BapictankintegerstA!

</span></span><span class="highlight-line"> <span class="highlight-c|"> intc = 3;
</span></span><span class="highlight-line"> <span class="highlight-c|"> System.out.print
n(a == b); // false N5 IR E5 | BRE—I%

</span></span> <span class="highlight-line"> <span class="highlight-cl"> System.out.print

n(a == ¢); // true aBaFAERINEESELBHICLLE

</span></span><span class="highlight-line"> <span class="highlight-cl"
n(b == ¢); // true

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"

\%

System.out.print

\%

Integeral = 12

1
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</span></span><span class="highlight-line"> <span class="highlight-c|"> Integer b1 = 12
,</span> </span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n(al == b1); // false

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"><span class="highlight-cl"> Integer a2 = 12
’</span> </span><span class="highlight-line"> <span class="highlight-cl"> Integer b2 = 12
,</span> </span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n(@2 == b2); // true

</span></span><span class="highlight-line"> <span class="highlight-cl">}

</span></span></code></pre>

<h3 id="JavashRIBzIEAESIFE" > <strong>Java FRIBFNEEAESHFHE </strong></h3>
<p><strong> <strong>HAZ2B&%EFEIFFE? </strong></strong></p>

<p><strong> N TFERINAE LRI AR ZEEFRAEANEE </strong> </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">//B=h%RE

</span> </span><span class="highlight-line"> <span class="highlight-cl">Integer total = 99;
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">//EEiF%E
</span></span><span class="highlight-line"> <span class="highlight-cl">int totalprim = tot
I

</span></span></code> </pre>

<p> <strong> <strong > <AERE B ISE ARSI N RREE, RENERINISERRE
IR EAREUESERY, </strong></strong></p>

<blockquote>

<p>**1E Java SE5 ZHI, BilEEEXHES: Integer i = **<code>new</code> <code>Integer
</code> <strong>10");</strong></p>

</blockquote>

<p><strong>¥$7F Java NE=NEEFHRE, HNIBEFRDRIFEN class X, HLHEARGE
A9 valueOf 75i%, #HFAEARARIRZ Integer.Value J5i%, THHMEXRmFEAME: </strong></p>
<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2022/04/solo-fetchupload-15532215651249386565-f19f2058.png?imageView2/2/in
erlace/1/format/webp"></p>

<p><strong> <strong>EWEIH{—: </strong></strong></p>
<p><strong>XEAFHLHA? </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Main {

</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo
d main(String[] args) {

</span></span><span class="highlight-line"><span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> Integer il =
</'span> </span><span class="highlight-line"> <span class="highlight-cl"> Integer i2 =
</'span> </span><span class="highlight-line" > <span class="highlight-cl"> Integer i3 =
2(/);span> </span><span class="highlight-line"> <span class="highlight-cl"> Integer i4 =
2(/);pan> </span><span class="highlight-line"> <span class="highlight-cl">

</span></span> <span class="highlight-line"> <span class="highlight-cI"> System.out.pr
r:c/l.:|fglaa1n:>:<lil’pan> <span class="highlight-line"> <span class="highlight-cl"> System.out.pr
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ntin(i3==i4);

</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<p><strong>&ZEE:</strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line" > <span class="highlight
cl">true

</span></span><span class="highlight-line"> <span class="highlight-cl">false
</span></span></code></pre>

<p><strong> A ASHIUXEFRILER? MHEERER i1 7 i2 IEANER— 1%, i3 1 i4
ERERENNSR. WIRFE—EFSENRS, THEHXERAEZ Integer A9 valueOf 73iARIERSE
. </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public static Integer valueOf(int i) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> if(i &gt;=-12
&amp;&amp; i &lt;= IntegerCache.high)

</span></span><span class="highlight-line"> <span class="highlight-cl"> return Inte
erCache.cacheli + 128];

</span></span><span class="highlight-line"> <span class="highlight-cl"> else
</span></span><span class="highlight-line"> <span class="highlight-cl"> return new
Integer(i);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span></code> </pre>
<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">private static class IntegerCache {

</span></span><span class="highlight-line"> <span class="highlight-cl"> static final int
high;
</span></span><span class="highlight-line"> <span class="highlight-cl"> static final In

eger cache[];
</span></span><span class="highlight-line"><span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> static {
</span></span><span class="highlight-line"> <span class="highlight-cl"> final int lo
= -128;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl|"> // high val
e may be configured by property

</span></span><span class="highlight-line"> <span class="highlight-cl"> inth =127
</span></span><span class="highlight-line"> <span class="highlight-cl"> if (integer
acheHighPropValue != null) {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> // Use L
ng.decode here to avoid invoking methods that

</span></span><span class="highlight-line"> <span class="highlight-cl"> // requi
e Integer's autoboxing cache to be initialized

</span></span><span class="highlight-line"> <span class="highlight-cl"> inti=L
ng.decode(integerCacheHighPropValue).intValue();

</span></span><span class="highlight-line"> <span class="highlight-cl|"> i = Math
max(i, 127);

</span></span><span class="highlight-line"> <span class="highlight-cl"> // Maxi
um array size is Integer. MAX_VALUE

</span></span><span class="highlight-line"> <span class="highlight-cl"> h = Mat
.min(i, Integer.MAX VALUE - -low);

</span></span><span class="highlight-line"> <span class="highlight-cl|"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> high = h;
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</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> cache = n
w Integer[(high - low) + 1];

</span></span><span class="highlight-line"> <span class="highlight-cl"> intj = low;
</span></span><span class="highlight-line"> <span class="highlight-cl"> for(intk =
; k &lt; cache.length; k++)

</span></span><span class="highlight-line"> <span class="highlight-cl"> cache[k]
= new Integer(j++);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> private Integ

rCache() {}

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code></pre>

<p><strong>MiX 2 BRRIBEILIEY, 758 valueOf /55481 Integer JISRIAHER, WNRHUETE(
128,127]2i8), {FiR[EHSE IntegerCache.cache fFELKFENIRAIS|IH; BNEIE—NFHHY Integ
r XJg, </strong></p>

<p><strong>_FEAIREEF i1 1 i2 BB 100, ELSEEM cache FEIEEFIENINIS, FrlA
i1 i2 IEEERE— IR, i3 4 WRSHERARERINESR. </strong></p>

<p><strong> <strong>EIMEIX _: </strong></strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Main {

</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo
d main(String[] args) {

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> Double i1 =
geé%am </span><span class="highlight-line"> <span class="highlight-cl"> Double i2 =
295?0'an> </span> <span class="highlight-line" > <span class="highlight-cl" > Double i3 =
2(/):5(|)C;an> </span><span class="highlight-line" > <span class="highlight-cl" > Double i4 =
29%%an> </span><span class="highlight-line"> <span class="highlight-cl">

</span></span> <span class="highlight-line"> <span class="highlight-cI"> System.out.pr
Zz/:?é%nzjiz/é’pam <span class="highlight-line"> <span class="highlight-cl"> System.out.pr
ntin(i3==i4);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<p><strong>#HER A </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">false

</span></span><span class="highlight-line"> <span class="highlight-cl">false
</span></span></code> </pre>

<p><strong>/RRRBER, ERNMCEINIBELENMEERAY, MEREEARR. </strong
</p>

<h3 id="AHABEEEHKA-"> <strong> HHLBBEEHXA? </strong></h3>

<p> <strong> <strong > EALIERBBEBIRAWFIE</strong> </strong> </p>

<table>

<thead>

<tr>

<th> <strong>E&EAZER < /strong> </th>
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<th> <strong>f3£883580 < /strong> </th>

</tr>

</thead>

<tbody>

<tr>

<td> <strong>boolean</strong> </td>

<td> <strong>Boolean</strong></td >

</tr>

<tr>

<td> <strong>char</strong> </td>

<td> <strong>Character</strong> </td>

</tr>

<tr>

<td> <strong>int</strong> </td>

<td> <strong>Integer</strong> </td>

</tr>

<tr>

<td> <strong>byte</strong> </td>

<td> <strong>Byte</strong></td>

</tr>

<tr>

<td><strong>short</strong> </td>

<td> <strong>Short</strong> </td>

</tr>

<tr>

<td><strong>long</strong> </td>

<td> <strong>Long</strong> </td>

</tr>

<tr>

<td> <strong>float</strong> </td>

<td> <strong>Float</strong> </td >

</tr>

<tr>

<td> <strong>double</strong> </td>

<td> <strong>Double</strong> </td >

</tr>

</tbody>

</table>

<p><strong>ATILEALRIOEEWRAVEAE, M 7TRERE (NF(EERESRE Collec
ion B —EREAEEREMIFESRRE) FNSTHREEE object 1Y, XENFTEXLERLR
BEERERT, </strong></p>

<p><strong>B&EEfE: </strong><code>new Integer(6);</code> <strong>, [EERERE:</str
ng><code>Integer.valueOf(6)</code> </p>

<p><strong>BaliFfE: <strong><code>inti = new Integer(6);</code> </strong>, KEEH
/strong> <code>i.intValue();</code> <strong>75E&3ELH., </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">Integeri = 6;

</span></span><span class="highlight-line"> <span class="highlight-cl">Integer j = 6;
</span></span><span class="highlight-line"> <span class="highlight-cl">System.out.printin
i==j);

</span></span></code></pre>

<p><strong>&EAE FEXRAMEFE: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public static Integer valueOf(int i) {
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</span></span><span class="highlight-line"> <span class="highlight-cl"> if (i &gt;= Integ
rCache.low &amp;&amp; i &lt;= IntegerCache.high)

</span></span><span class="highlight-line"> <span class="highlight-cl"> return Intege
Cache.cache[i + (-IntegerCache.low)];

</span></span><span class="highlight-line"> <span class="highlight-c|"> return new Inte
er(i);

</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<p><strong><strong>_"FRKIXHF: </strong></strong></p>

<ol>

<li><strong>FEAS AR BEARREANEA new X, MEARKEIFERMEA new XEFRE</
trong> <strong> <strong > BLIFEZSIE] </strong > < /strong>**; **</li>
<li><strong>FHEALNRNERE: ERLEEERBTEEFEERD, MEREERBURN
Herh, RASRBESIARER, </strong></li>

<li> <strong>#J4aEARRE: EREERIFIAELD int /3 0, boolean J3 false, MRAEERIFIIAEST
null; </strong></li>

<li><strong>{FRAHSIAE: EARREERMEERERMT, MEAREEESESA Collection, M
p Bf=fEAE]. </strong></li>

</ol>

<h3 id="a-a-b5a--bBHAKXHIE-"> <strong>a=a+b 5 a+=b HHAKXFIIE?</strong></h3>
<p><code> +=</code>**B{FRFRIH TR B oIS BUEIR AL a+=b fRTVAVISIIR/FRUZEREEY
HIEEHRFFRERAIREL M a=a+b NWASBEaHHTRESERA: **</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">byte a = 127;

</span></span><span class="highlight-line"> <span class="highlight-cl">byte b = 127;
</span></span><span class="highlight-line"> <span class="highlight-cl">b = a + b; // {&%%
faix:cannot convert from int to byte

</span></span><span class="highlight-line"> <span class="highlight-cl">b += a;
</span></span></code> </pre>

<p><strong> A MRS ERE BRNEEAR? </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">shorts1=1;

</span></span><span class="highlight-line"> <span class="highlight-cl">s1 = s1 + 1;
</span></span></code> </pre>

<p> <strong>EEiR short XEEHTIZEITSBIMET A int 28! g Rii </strong> <code>s
+1</code> <strong>HYZELERE int K8 s1 2 short S8 IATYRIFEFSIRIG. </strong> </p

<p><strong>1E#5;%: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">shorts1=1;

</span></span><span class="highlight-line"> <span class="highlight-cl">s1 +=1;
</span></span></code> </pre>

<p><code>+=</code> <strong>R{ERFEIAIHNFRIA LR B ILECAINRVEHESEL FTLAREE
</strong></p>

<h3 id="float-f-3-4-2&1EH"> <strong>float f=3.4;2&1EHi</strong></h3>

<p>**AIEH, 3.4 ZVEESR, BIUSEE (double) WELSFAE (float) BT TF4E (down-
asting, FRARN) SEMBEIRK, RILFEEHSRELEH: float f =(float)3.4; **</p>
<p><strong>THEER float f =3.4F;</strong></p>

<h3 id="short-s1---1--s1---s1---1-B$g15-short-s1---1--s1----1-F$EM13" > <strong>short s1 = 1
s1 =s1 + 1,85 1E?short s1 = 1; s1 += 1,845 </strong></h3>

<ul>

<li><strong>33F short s1 = 1;s1 = s1 + 1;lHF 1 2 int 28, Filt s1+1 zEERBE int 8
o HE RSB A BB E2S short B, </strong></Ii>

<li><strong> short s1 = 1; s1 += 1;AJLAUEMGRE, BN s1+= 1;ETF s1 = (short(s1 + 1);
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P ERSHEFISRESE R, </strong> </li>

</ul>

<h3 id="8g1&-int-3EFI4L1 79 -byte-KBIRL BID-WNFRZ(E X T -byte-KBRFEE- B HIHAI
-"><strong>8Ei& int SBHIEEIE/D byte FKRIRILENT? WNFZ(EXT byte KEATEE, B
2H8? </strong></h3>

<p><strong>FATTLUEEREHERR, (B2 Java & int & 32 {UAY, m byte 2 8 {uAY, FrLA, @R
e, int 2BAYS 24 (LESRER, B byte RBIFTTEIEM -128 & 127 </strong> </p>
<h2 id="EAEXEF"> <strong>FEHXHEF </strong></h2>

<h3 id="final-#£-Java-FEHALER-"> <strong>final 7£ Java FEHAYEA? </strong></h3>
<p><strong>final {F/3 Java FROXBEFEILIAET="Mt75. BTEIRE. KBMHMEGE. </stro
g></p>

<p><strong>%iE: FZE3IFA final XEFAYMITEARAER! </strong></p>

<p><strong> (11 FRZEAFBERMYK, </strong></p>

<p><strong>(}gi75i%: FRTIEABERES, </strong></p>

<p><strong>()EiHEE: FRREEREINMELISERERIENR (BE) . </strong></p>
<h3 id="iEaEIHFF-public-private-protected-LARAS - BRIA-BFHIX 5" > <strong > iHIRHEIHET p
blic,private,protected LARAE (BIA) BIRIXH!I</strong></h3>

<ul>

<li> <strong> <strong>E X </strong> </strong>**: Java F, BILUEFIAIEHESIHERIRIFRTSE
TR, FAMEER ARG, Java 32855 4 ARBIRHENER, **</Ii>

<li><strong> <strong>%32&</strong> </strong>

<ul>

<li> <strong> <strong>private</strong> </strong>** : fEE—3EWA L., FHANSER: TE.

o EE: FBEBIME (FMERR) **</li>

<li> <strong> <strong>default</strong> </strong>** (BIfRE, HAHEFRE, RMER(HEXEF)
EE—BRAR, MEBEHTERRF. ERNSR: XK. #O. T8, ik, “</li>

<li><strong> <strong>protected </strong> </strong>** : }E—BRAFEFFEFET W, (F
W BB, Ok, TR FREEINER (IMBK) . *</li>

<li> <strong> <strong>public</strong> </strong>** : JFFEXEA N, FAGS: £, #O. T
< TiE<li>

</ul>

</li>

</ul>

<p><strong> <strong > [EHELHRFE </strong> </strong> </p>

<h3 id="final GFLEREi%- "> <strong>final BHFLLRL? </strong></h3>

<p><strong>final 22RZEAEMIAAIIHTT BFTEX NIRRT, BEEEZE FLUAT 5 =5
B 1 .</strong></p>

<ul>

<li><strong># final {EIHAIZEATTLA 4 H </strong> </li>
<li><strong>#% final {21HRAITIEALUKES </strong> </li>
S15

<li> <strong>#% final {EIHAYEEARTT LA . ANREIH5 | BB A RS | AT 5 | s RIS
3r.</strong> </li>

<li> <strong># final {&{HEY7574JVM SZHEEREL LIREIEITRE < /strong > </li>

<li> <strong># final (ZIHRVEE ERFENRSFNERIEF. </strong> </li>

</ul>

<p> <strong>PRItbZHh GRiEESXY final IHEBEFAIRM N EHEFIMNELF: </strong> </p>

<p> <strong>EHIEREWNIT— final IHAIB N, SHEEERIXMEINERTSRA05 | BRELS—15 B
B XA MEEZ BAEEEHERE ¥RE—NME S final iS993 | B, SREE¥REEXA final 13, 1XFG
BB AREEHERR. </strong> </p>

<h3 id="final-B{+4H-"> <strong>final B{+4F? </strong></h3>
<p><strong>BFEIRZE. BRI IE</strong></p>

<ul>
HIZEARET LA AR % < /strong > </li >

<li><strong># final {
B AR LEES </strong > </li>

h
f
<li><strong># final 184

L

a1 a1

W W
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<li><strong># final (1AL EARRTLIKKEE, # final 216 ARTERIZZERISIA, MAZSIA
F]E’J|P§1’§, 5| FSAIM B E AT B < /strong > </li>

</ul>

<h3 id="static&BBIBLEAEi%- "> <strong > static EFEHFLLHRL? </strong> </h3>

<p> <strong>FrEHIAEBANE static XEFIXFMEANAAEBHSEENGHSTT A BHEH static
PHEIRRIZEE/ 75 28R T SRRV SRR, 2L =. < /strong > </p>

<p><strong>R T ST EMEHSTTIAZ I static BRATFERS i%%%?%)]&é%?;?é{’ﬁz</strong></p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public calss PreCache{

</span></span><span class="highlight-line"> <span class="highlight-cl"> static{
</span></span><span class="highlight-line"> <span class="highlight-cl"> [/HATHEXE

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<p> <strong> Itk static B2 FBFEIHPIERE LATFRZ HERSAIERZ. < /strong> < /p>
<p><strong>&fe— M AIEME§F5SE, B0 </strong> <code>import static</code> <strong>.
mport static 27 JDK 1.5 ZfF5 I NRIFHFIE AT LARKIEESAR N RPIRFS R IR A BEATERE
KB A LEZERRIRS, Ll </strong> </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">import static java.lang.Math.*;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">public class Test{
</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo
d main(String[] args){

</span></span><span class="highlight-line"> <span class="highlight-cl"> //System.out
printin(Math.sin(20));{&4tfii%
</span></span><span class="highlight-line"> <span class="highlight-cl|"> System.out.pr

ntIn(sin(20));

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<h3 id="staticiFERNEER X "> <strong>static FERNEER N </strong></h3>

<ul>

<li> <strong>static NFEEREN BET I FEANSRAISTERESA. <strong><strong>
strong> AR TFRIERBECIENS, theeEREMMERTGIA</strong> </strong> </strong>! </st
ong></li>

<li> <strong>static KEFIEE—PMLEKBIERME <strong> <strong> <strong> FARAZAL
SHRBRUACRERR 4 BE </strong > < /strong > </strong >, static SRATLABEFRAPRUFHTHEF, £
AILABEEA static 3R, FESRUDRBINEAIRHRE, SIRER static RAGIGFERITEA static t, HER
HYT—IR, </strong></li>

<li><strong> A+l static SRETLARSRILCERERE, RRATFIE: RSESINERIEHENIT

fg’to Fit, REMERSE—LERAFTEHTIREHANHRIFEIIE static (TIBRPBIT. </strong><
1>

</ul>

<h3 id="staticA9¥4Fz4b" > <strong > static AYIREFZ4b </strong> </h3>

<ul>

<li><strong>1, # static (EIPAVTEFE T ERMTI FZERVEEANSR, EHEk, XYTENS
</strong> <strong> <strong> ~NEFAEHI—LHIRISR, MEHEIRAISLHINISRETHEZ </strong> </s
rong>**, **</li>

</ul>

<blockquote>

<p><strong>EAEME "HEILFANSKAHEE" XOER? Mk, — P EIERSHE, E2R
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REKAY [REFERIRXDERAIZSNXIREN, B IERE— T LABIEZ LA ] |, ArERISERY
HZ=H, MEAAREZERE M [BNMERIRX N ENENLFINIR] . KEERESHAVRERT
{REBETH? </strong></p>

</blockquote>

<ul>

<li><strong>2, FEIZRMB—IXIIEAIEHR, MAEINEAR static ZIRIERSD, MBERERSE IR
%l?ﬂ‘?]ﬂiﬁ#i&ﬁ%ﬂﬁé%, TRXESXAMEYRN, EEREFEEIUBXER, </strong
</li>

<li><strong>3, static WE(EERMNBAIEHEDECTE, USRIERNSRIRHEASEHDE. W
ANiE, RULUERIER! </strong></li>

<li><strong>4, # static ZIPHNREHETEZZMATHISRFEN, EMRRI—PRINFEEL
. BMfERBRENSR, thallAARE, </strong></li>

</ul>

<h3 id="staticFE=ZEIN"> <strong>static ;EA=ZE </strong> </h3>

<ul>

<li><strong>1, EFSREEHAEES. </strong></li>

<li><strong>2, IFEHSEEALABEARERSH, WAILARKEERSAY, </strong> </li>

</ul>

<h3 id="staticf0final X 3" > <strong>static [ final X%l </strong></h3>

<table>

<thead>

<tr>

<th> <strong>&$#id </strong> </th>

<th> <strong>{&im#) </strong> </th>

<th> <strong>§Mg </strong> </th>

</tr>

</thead>

<tbody>

<tr>

<td> <strong>final</strong> </td>

<td> <strong>3¢&E </strong> </td>

<td><strong> D EEIEEILH, BFEAFIKEZEE</strong> </td>

</tr>

<tr>

<td> <strong>final</strong> </td >

<td> <strong>J5i%</strong> </td>

<td> <strong>FEHIEREEHES </strong> </td>

</tr>

<tr>

<td> <strong>final</strong> </td>

<td> <strong>3&</strong> </td>

<td> <strong > R gEifLkF < /strong > </td >

</tr>

<tr>

<td> <strong>static</strong> </td>

<td> <strong>ZT&E </strong> </td>

<td><strong>DEERFH L, 5|RESERX—MIMASEHRZEAEF</strong></td>
</tr>

<tr>

<td> <strong>static</strong> </td>

<td> <strong>FiLR < /strong> </td>

<td> <strong> AL SEINE; </strong > < /td >

</tr>

<tr>
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<td> <strong>static</strong> </td>

<td> <strong>2&</strong> </td>

<td> <strong> A LAE @I 2R ARMARE new</strong> </td>

</tr>

</tbody>

</table>

<h3 id="this>#=FAIM%"> <strong>this XEEFAIAIA</strong></h3>

<ul>

<li>

<p><strong>this EEBI— IR, AREEAS, JLIEHA: BRANRAISHN—NiEs. </st
ong></p>

</li>

<li>

<p> <strong>this BIFHETE java RARARRLLS A 3 F: </strong></p>

<ul>

<li><strong>1.ZEHEES |, this BETEIEALRINSEAEAS, </strong></li>
<li><strong>2 &5 RBFER, A this KX : </strong></li>

</ul>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public Person(String name, int age) {

</span></span><span class="highlight-line"> <span class="highlight-c|"> this.name = na
€

</span></span><span class="highlight-line"> <span class="highlight-c|"> this.age = age;
</span> </span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code></pre>

<ul>
<li> <strong> 3.5 | FAASEAIIERR S < /strong > </li>
</ul>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">class Person{

</span></span><span class="highlight-line"> <span class="highlight-c|"> private String n
me;

</span></span><span class="highlight-line"> <span class="highlight-cl"> private int age;
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public Person()

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-c|"> public Person(S
ring name) {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> this.name =
ame;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> public Person(S
ring name, int age) {

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"

\%

\%

\Y

this(name);
this.age = ag

\%

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span></code></pre>

</li>

</ul>

<h3 id="superxi#=aIFL" > <strong>super XHEFAI X </strong></h3>

\"
—

ESZ4ERE: Java ERETR S


https://ld246.com/article/1649668122432

<p> <strong>super ATLUZMARIEMETHE (L) EURM— Mg, MXMESSNRBES
IEHI—NARZE, </strong></p>

<p><strong><strong>super tBE=Fi%: </strong></strong></p>

<ul>

<li> <strong>1.E1EAIERS | </strong> </li>

</ul>

<p>** 5 this Z&{E, super FESTRIBRZRINRAIEENS A, XEBAILAA super.xxx K5|H

KAIPLR. **</p>

<ul>

<li> <strong>2. FEPRMRTES 5 IESREFHMRTES 5 ARBR, A super HTX %D </st
ong></li>

</ul>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> class Person{

</span></span><span class="highlight-line"> <span class="highlight-cl"> protected
tring name;

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span> </span><span class="highlight-line"> <span class="highlight-cl"> public Per
on(String name) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> this.na
e = name;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
extends Person{

class Student

</span></span><span class="highlight-line"> <span class="highlight-cl"> private Str
ng name;

</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public Stu
ent(String name, String name1) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> super(n
me);

</span></span><span class="highlight-line"> <span class="highlight-cl|"> this.na
e = namel;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public void
getinfo(){

</span></span><span class="highlight-line"> <span class="highlight-cl|"> System.
ut.printin(this.name);  //Child

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.

ut.printin(super.name);  //Father

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl|"> }
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span><span class="highlight-line"> <span class="highlight-cl">

st {

public class T

</span></span><span class="highlight-line"> <span class="highlight-cl"> public stat
¢ void main(String[] args) {
</span></span><span class="highlight-line"> <span class="highlight-cl|"> Student

1 = new Student("Father","Child");
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\%

</span></span><span class="highlight-line"> <span class="highlight-cl"
0;

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span></code> </pre>

<p>** 33| FQLHHERET*</p>

<ul>

<li> <stron<_:|]>super (2% - FERARKEKPNE—MIIERE (MiZIMIEREPRIE—FKED) .
/strong></li>

<li><strong>this (2%f) : BRAAREPZS—FPRINERE (RIZNEEREFHFE—FED)
</strong></li>

</ul>

<h3 id="-f1--A9KX 5" > <strong>&amp;F1&amp;&amp;AIX 5l < /strong> </h3>

<ul>

<li><strong>&ampizBfFFEMMAEL: (NS, (28BS, </strong></li>

<li> <strong>&amp;&amp, I ZE8fFFEEKSIEH, BESREIRSHENRIFEEXR, B8A"E
EREBAAARIRRH/RERRE true BPNRIATAWES 2 true. &amp;&amp; Z FTLIFR/IFEIRIZ
, BEEFIIRamp;&amp,IOONRAAER false, AUNELARSHEEERE, FaTia

. </strong></li>

</ul>

<p><code>THE: BEHZER (|) MEBIEEM (||) HEHEEWL. </code></p>

<h3 id="break--continue--return-g9X 5% {EA" > <strong>break ,continue ,return BIXBIRZ{E
</strong></h3>

<ul>

<li> <strong>break Bt/ E—E1ER, ABHUTEAGERZARIAIEIMAE) </strong> </li>

<li> <strong>|continue BEHZAORTBIR, BEHIT RBIMGERIEFEHITAIEIR HENT—MEREM
</strong></li>

<Ii>|<strong>retu r BFRE, BT TEIME(ERERANE BER(E]) </strong> </li>
</ul>

<h2 id="BHE4E" > <strong>FELIE < /strong> </h2>

<h3 id="Java®&E&1N"> <strong>Java F&E&E/ </strong></h3>

<p><strong>Java B&EZ Java IRMHAT—FHRBIR IBREERAT—EUENE, </strong></p>
<p><strong>Java EEHEILIEREFRHRELERBIERWVSABOE, RIEERCBEIL

. FHREREREIE. TENERREER T, FEEEMAIEE what, where, why 1X 3 NalE&
SFERBEIET "H4A" witd, REERREREEY E il FEERRET "AMtA” &
H. </strong></p>

<h3 id="Java®&EZ#3" > <strong>Java FEZE¥I < /strong></h3>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image-20210814134319791"
data-src="https://b3logfile.com/file/2022/04/solo-fetchupload-11027544892678737096-f0c1
0e7.jpeg?imageView2/2/interlace/1/format/webp"></p>

<h3 id="Error-F1-Exception-H{AKSI-"> <strong>Error F] Exception HHAKEI? </strong
</h3>

<p>****Error *kkk </p>

<p> <strong>RRERRAERTEFAEIENEE, RIKEREATEEREMEER TH—
B, LIRFEE, FresE R Faedt X IFRIIER, </strong></p>

<p>** ******Exception *kkkx </p>

<p><strong>FKRE LBt E R e TUENSE, B—MiRitEstiliag; i, ©
TUSIRRISTIER, WFRRERIER. </strong></p>

<h3 id="[@iA-final-finally-finalize-g9X5l" > <strong > [&iA final. finally, finalize B9X%5I</stron
></h3>

<p><strong><strong>1, final: </strong></strong>** {iffF (KE=F) B=MAEL: WR—
KA final, BEWREEAEBIRELIAIFE, RIFsemdtR, FEILER abstract 2& NiF,
TEFRSA final, AILMRIEE(EERPAREEE, HAREA final WERELIVERRITEELE,

s1.getinf

vV V V
——
——
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FELUGHE | REGSEAT &M, #EEA final U5 EALREFEREEER, FeeiEFEPHES, **
/p>

<p><strong><strong>2, finally: </strong></strong>** JBEIE try...catch... l.IEETIER
HATRRER, XMERERFLICEENTERRERE, XENRBRE VM RXTEEEHRIT,
LUSRRNEB R TBRRIBEE finally thep**</p>

<p><strong><strong>3, finalize: </strong></strong>** Object ZEhENBIAL, Java F5p
{58 finalize() 3 AL W EERS EIIR M FRIBIR E EZ BN ERNBIR T, X 3 ARRLIR
SEEERNUSIMEARN, BIEE finalize() A BB R SR RSB HITHMBETIE. **</p>
<h3 id="FH—E{RERRNEITRIFE-"> <strong>FH—LRERNRNZITRIRE? </strong></h
>

<ul>

<li><code>ClassCastException</code> <strong> (EEHaFE) </strong></li>
<li><code>IndexOutOfBoundsException</code>** (FEMR) **</li>
<li><code>NullPointerException</code>** (TigFtERE) **</li>
<li><code>ArrayStoreException</code> <strong> (iEFMERE, REHAREBLT—H) </
trong> </li>

<li> <code>BufferOverflowException</code> </li>

<li> <code>ArithmeticException</code>** ERF&E**</li>
<li><code>lllegalArgumentException</code> <strong>IEESEIHE </strong> </li>

<li> <code>SecurityException</code>** L2 FE**</li>

</ul>

<h3 id="HARZIEERE"> <strong> (T ARZIERE </strong> </h3>
<p><strong>BEFRNMeEF G TIEFABEHIAIELERIRE. </strong></p>

<p> <strong> <strong >IZ{THRIFHER </strong> </strong>** EEHIHANEFZREFR I sEIBZIRY
B, 2 MEIETHEER REEFRIMESEMEENASKE. **</p>

<p><strong> <strong>ZIGFHE </strong> </strong>** IRIEFEITH L TIMNER X, BIfFEE
RITFTIR, AR sEEEBMNIRAMmE &R, **</p>

<p><strong>Java fRiFEEER G AVNEBMETREAENZICRE, BEHAEKUAEEHH
WHPRNE T RE. FENGE—FF, REENNSERRITPEERRANGA, 7 Effective Java
YT RENERLSEH TUATESEN: </strong></p>

<p><strong><strong>1, </strong></strong>** REZRENEFTFEBREHIR (RiTRETF
APl RROZzsEIBERIRARAE A T IEEREEIRMmERSE) **</p>

<p><strong><strong>2, </strong></strong>** JWEILAKERIERFERAZOFE, XiRiEhix
BRiziThi®E** </p>

<p><strong><strong>3, </strong></strong>** ERAUNERFERZNEE (FJLUET—EK
NFERBRRERNRE) **</p>

<p><strong> <strong>4, </strong> </strong>** {LERIRENRE*</p>
<p><strong><strong>5, </strong></strong>** 8 G AIHINREEEG G </p>
<p><strong><strong>6, </strong> </strong>** (RIFFERNRFHE*</p>
<p><strong><strong>7, </strong> </strong>** RELE catch FRBIEHAEINIZE*</p>
<h3 id="Excption5Error3#5#3" > <strong>Excption 5 Error @#5#)</strong></h3>
<p><strong>Java A (Throwable) W5t 75 A =FfLEL: <strong> <strong> <strong>#t&
A5 & (CheckedException)</strong> </strong> </strong> , <strong> <strong> <strong>iz
A S& (RuntimeException) </strong> </strong> </strong> , <strong> <strong> <strong>$&i=(
rror)</strong></strong></strong>, </strong></p>

<p><strong> <strong>1, 1Z{THIFE </strong> </strong></p>

<p><strong><strong>ENX: </strong></strong></p>

<p><strong>RuntimeException &KEFREMM MBI TRIRF. </strong></p>

<p><strong> <strong>4Fm: </strong></strong></p>

<p><strong>Java fRIFEEASINEE. RN, JEFPIURHINXESEN, (&5 SEEE
hrows BEEAHILHE", t£"&BM try-catch IBAHEIAE", KERSRFEE. Fll, FREHERTERN
rithmeticException 55, #UBHFRRT4RY IndexOutOfBoundsException &, fail-fast A%
4A/9 ConcurrentModificationException & (java.util & FTHBIFIEIESRZERRIRIELWAY,
REEEM thFi2 fail-fast, B2 Java ESHI—FERICNANG]. BB NERENESHITEL LY
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THYERERS, BEseRT4& fail-fast Jl#. iICEEEFE, MAR—E. Hll: RIKFERIDNEE (
B, %iE2) , L2 118 Iterator FERAES A FRITTER, R MHEEE 2 B TES A RY
18 (RS EERYEN, MARERENESTRENRNS) | BAXMHREFHSME Concurre
tModificationException &, MTIF4E fail-fast Hl&, XAMEWHEEKEHE, Fail-safe, java.uti
.concurrent & FTEINFIMERIREEZEXNH, FEBEHIIEF, MRELEHHEE FNRNEET

, EREEARSHEY ConcurrentModificationException &, WMRFBHNEE FHRBEETE

, WBETEERMEIEIRES. XF2E ConcurrentHashMap £{{2855—2H9%I. ConcurrentHas
Map HS5—EMEER N TIRFNE, B —BESHERZEN—MiE, ZE/uE—EE, 55
EAm, EER2BM, X5 Hashtable FIREEH) HashMap —#7 . ) F, BETIETHERE.
/strong></p>

<p><strong> <strong>2, WIGERE </strong></strong></p>

<p><strong> <strong>ENX: </strong></strong>** Exception Z£A5, LMK Exception B9F
FRT IETHRE ZIMIREFRRETHRIGERE. **</p>

<p><strong> <strong>4Fm : </strong></strong>** Java fRiFRESNEE. WEEE, BA
& throws HiTEEBH#IL, BEABEI try-catch HTHBRGE, BNAEEEIImE. Fa0, CloneNot
upportedException FiETHIGERE. **</p>

<p><strong>Z@d clone()EAXRE—IXNSR, MZXIRXINAIEZHLI Cloneable £,
it CloneNotSupportedException B&., #HaERREEREEHEAILUMKEN. : </strong></
>

<p><code>|OException</code></p>

<p><code>FileNotFoundException</code></p>

<p><code>SQLException</code></p>

<p><strong> GBI EER T EERFS ERYERER, il EBCUFHII S A FE
&HJ</strong> <code>FileNotFoundException</code> <strong>, %A, AEEENSEER
EERTERRVRIZES E2AY, i NSRS | BERRNSIFEMS#eAY</strong> <code>NullP
interException</code> <strong>, </strong></p>

<p><strong> <strong>3. fHiE</strong></strong></p>

<p><strong>EN : Error KXREHFE, </strong></p>

<p><strong>%im  FIETHEE—F, RFF[UAIXERHITRE. </strong></p>
<p><strong>HRFEAE. LIREN. HEHECEFL PN TRIFMRER, Sr-EiEiR. 2
AETHEEIXLHEIRAY, HIg0, VirtualMachineError B4R, HIXFERESHIERARLE
17, OutOfMemoryError, ThreadDeath, </strong></p>

<p><strong>Java EIMALEHIE VM NRFES A TR, LhantE, %, BFHEES, 5iEK
</strong></p>

<h3 id="try---BE—"returnifG-BpA RIREIXMryfahRYfinally--EBRYcode ASHHUT-HARS
WHAT-FEreturngid2fg-" > <strong>try {E2F—" return i54), FPARIREXA try [FHY finally{
BRY code SARWHUT, (HARHMEHIAIT, 1E return BIIRR/F?</strong></h3>

<p> <strong>FAJx0E finally(} FRIEGR—ESHUTHY, IBAXPMEIBEIEFEROMERE return
A, return Z/SEIRERH TIXNFIA T, RANERMERT, (EFEMIINIZEE return FR{EHAT
58 NEEFABREITESR: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public classTest {

</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo
d main(String[largs) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.pr
ntin(newTest().test());;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> static int test()
</span></span><span class="highlight-line"><span class="highlight-cl"> {
</span></span><span class="highlight-line"> <span class="highlight-cl"> intx = 1;
</span></span><span class="highlight-line"> <span class="highlight-cl"> try
</span></span><span class="highlight-line"> <span class="highlight-cl"> {
</span></span><span class="highlight-line"> <span class="highlight-cl|"> return x;
</span></span><span class="highlight-line"><span class="highlight-cl"> }
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</span></span><span class="highlight-line"> <span class="highlight-cl"> finally
</span></span><span class="highlight-line"> <span class="highlight-cl"> {
</span></span><span class="highlight-line"> <span class="highlight-cl"> ++X;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span></code></pre>

<p><strong>HUTERUT: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">1

</span></span></code> </pre>

<p><strong>IZITERE 1, AtAlR? EREARFREFERERAIIE, FILEREES—
¥, SFRBEBRAERE, SCERNEETFE, AEBRBIEFZEREIEIERE. FrEixE
MaEFRER, BRAETT, REREBEETIE, XRHTABRAS, EREEHXIEZBIIUHE
ERY, </strong></p>

<hh3 id="IZTRES—REEFERRE-"> <strong>IZTRRES HREEBARME? </strong>
/h3>

<p><strong>REFMEFISTIIEFTARERAFERRE, BITHSERTEINANEEERIE
OEEBRINEE, 2—MENZITHEIR. java RiFsse XKD a0 mEH AT sER ENAREITIIRE
BEAARERINE A H AW AERAIZI TS E. </strong></p>

<h3 id="errorflexceptionB+AX3-"> <strong>error 1 exception BHAKXFI?</strong></h
>

<p><strong>error RRKEREATEEREMENER F—F™ER-, tihiRFRH, A9
IR FRe X IFAYIE. exception FrR—FIZITEECIIRRL. RN, BRNNRERIET
®, MAEERENBIR. </strong></p>

<h3 id="f& 5t avah i FE IR IRV B RERFIRL AR - " > <strong > & Bkl Java PEIFELL
MEIROE BRRIEBFIRLAE, </strong></h3>

<p><strong> <strong>FEZ15 java BFiziTH (FEmIE) FrRERIEEEEBREEIR </strong

. BPEER, ALB— S ER, Java FHEEANSKNAICRGNIERE, BitERPRENS

SEDEDIFHER—MNEERERZT, ZNRPEEERENER. **</p>

<p>** Java WEBEHITTHE, TRALENEESIIEARRER Java £z, IIBFELIREZEN java.

ang.Throwable, **</p>

<p><strong>Throwable FENMIKRETHNFE: </strong></p>

<ul>

<li><strong>Error ] Exception, Error RRNBEFRASTTERRIIKEN—FERR, 2
FRT, Ba0, RRERHTILESLMER R, </strong></li>

<li> <strong>Exception X EFIFEE RIRFIKENTR, BEPXDANEZEEIZERE: </st

ong></li>

</ul>

<p><strong>RFEFERRHASHRIEFTSERIAR, BHMEKEHFEAREEARTSERY M

BHERE T ARRAIRE XM, (BEXMEE FAR LA R FREE TaE 1L HEE,

N, EBEEMA#A (ArraylndexOutOfBoundsException) , ZHg8tH & (NullPointerException

. REEEE (ClassCastException) ; </strong></p>

<p><strong>EHBEFERETMENTMNSFERSHMIE, SRR RIRANEE, Fa0, K

Wik, BRETEAE, REXHENERER, BRFAMIZIE, </strong></p>

<p><strong>java NEFZRENTEFEIRE TARNBRL R, HEEEHZEREUM try..cat

h &b¥8aR A3 throws FERL4RELHILE FETERG AR, FRLAEBRE IR checked BE, MERR

AL EMRTLAARLIE, FrLA, fmiFssAsaslA try..catch &b throws =B, FRLARGRRED

79 unchecked &, </strong></p>

<h2 id="ERXZR"> <strong>EMAXIF </strong> </h2>

<h3 id="HEAXSFAEMIEIIXE]" > <strong > ERXSRFEAEFZNXE </strong> </h3>

<ul>

<li><strong> <strong>ERIZFE </strong> </strong>**: **</li>

\%

}
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<li><strong>fim: MRELLEIMNISRE, FHARBERNFEESLAUL, FFEIERK, WRBRRIR
BRHL. AR, Linux/Unix E—RRAERISETR, MEEREERNREZE. </strong></li>

<li><strong>fRm: IREERNRZHER. ZEM. Y E</strong></li>

<li> <strong> <strong>HEEXIH </strong> </strong>**: **

<ul>

<li><strong>flm: Z4EF. ZEA. ZF R, BTEHRNSREHR. K. ST, FJLL
ITHEEESHNAESR, ERAEMRIE,. BEINZ T4 </strong> </li>

<li><strong>&fea: tEELLEIAIZFE(K </strong> </li>

</ul>

</li>

</ul>

<p><code>MHEMISEEZEEMRLEY, REEKH, ER—NaR, REE—S—FNHN, —F—F1
I, </code></p>

<p><code>HMAMNREEERWH, (RRAFJHFE—E, XE—NHANETF, EXBRAEEUE
HEMRBENGE, SEAASEERERMRATLLT, ApE—S—FS89H, EF XA TIEER
SRS, EFAIMHAE? BAOISAMTLLT. </code></p>
<p><code>HANSENEEELARH I, IEEAEERSASE, AET%E, HERIIERN
RHMANSRT. </code></p>

<h3 id="EAXSRHUHEEPLSE" > <strong > EEXISRHUHEERLL /5 E </strong> </h3>
<p> <strong>HEMENSREUFEFEEB LT/ N GE </strong>: **</p>

<ul>

<li> <strong> <strong>#Hig: </strong> </strong>**: HGREE—EIRAELEHFIE LS H KIS
E’\Jiiﬁ,/ @?E%&TETHH%‘R%DG%?E%WE H., HRAXNEISEWLELRITH, FARTXET I
BRHA. **</li>

<li> <strong> <strong>*J%& < /strong> </strong> <strong>IB— PN IRHEHFAGW, FEREEH
LRI A MR RN EMRYAE, MEREMABHINRIGNE, FINIAIARAMRHESEL/NRiRBE, 8
NER— PN RRBERMFEINRBRNAZE, BBARXNREIREHABNT. </strong></li>

<li> <strong> <strong>##iF </strong > </strong> <strong > E{FEFH EFEAISHIE X EAENEE
FRAORIR, FRR0E N AT LU AYEESFa0TEE, BT LABBARSEAITNEE, (BBEIiF bt
xR, BIIERMERIBEEIEE H{EBERLARIANMTRE, </strong></li>

<li> <strong>XFHHAEIT 3 midIcfE: </strong></li>

<li> <strong>FEHEREIE private NEMGE, </strong></li>

<li> <strong>FEaILIBEESEMAZE, BIFEALNIRIEHITT E. </strong></li>

<li> <strong>FEAT L BRSNS LMREN AL, (LUBENEB) . </strong></li>

<li> <strong> <strong>£Z&</strong> </strong>**: RLEIEOENX IS IEETE0]LIERFE

{RSCHIZEMISEAING SR, IR TIEFREN. £ Java PERMFE IS $iK (S1MFE
Iﬁ—lﬁ%ﬂ’ﬂi—%) MiEQ (EEOAEEEROFE—GE) . *</li>

</ul>

<h3 id="JavaSZ&RVIBMR" > <strong>Java ZSAVIEfR </strong></h3>

<ol>

<li><strong>Z&2HEER. WHZfE, ERNKIE=KF%E. </strong></li>
<li><strong>ZSUELENIEME: </strong> </li>

</ol>

<ul>

<li><strong>PELEMEELAIMESMHAES, NFE, ZEEAN—, U—EBERHRERZFKR=
EFEMEAN, BIHIAFAS, </strong></li>

<li><strong>Java {fEAEMANSIES, BEFTLEA— M SEYINZSHMAZS. 9 Student 487K T
erson 2, —/ Student BIXIS(EREE Student, XZ Person, </strong></li>

</ul>

<ol>

<li><strong>ZSAIM AR ES | B ERILUSRIFEXIR, </strong></li>
<li><strong>HHEEMH: VIRBFREKXR, </strong></li>

</ol>

<p><strong><strong>F=: EEAZSENRES I RZERALEN, SBEBTFRESERNGE

ESZ4ERE: Java ERETR S


https://ld246.com/article/1649668122432

</strong></strong></p>

<ol>

<li><strong>ZSHIE N SERIEI( </strong> </li>

</ol>

<p><strong>EXEI: RELEE TEF=new FZZEE();</strong></p>

<h3 id="HARZ&HE-JavaiE S 2UNASLIMZSH-" > <strong >H AR ZANH? Java IBES2W
STHIZASRY? </strong></h3>

<ul>

<li> <strong>FMBZSHEIEEFPE NS | FEERTE RN EAEENE T XS | BTER B
RRERENHARE, MEEFETHEAHE, B— 5| FEERIESIERB N SRAILFHIxT SR
%5 | BT 2 A B EEERRIEEEN PN GE, WIERERZTHEA8ERE. EAERE
BT ARERARRZE, X, FARESFRREFRNE, SALLLS|BEEEYERIZFARIZECI
MMEELZE |BRABNERG A2 NEZE, BIAMESRERRAER ] AN FE TS eI B AR
. UREFRALUSEREZMNEITIRES, XMESSMH. </strong></li>

<li> <strong>ZED NREENZSINETNEES. HPRENSSESSH, FERIEHIANER
TCRIRESHIIRNARRX OABNERSE, BYREZEESTHA N ABRIRE, EaiTiAL
. METHZESESH, ERBESEIERTLIN, BHMEKIIFMRNEZESME. </strong></I
>

</ul>
<p><strong> <strong>Z&AISLH < /strong > </strong > < /p>
<ul>

<li><strong>Java TMESH=AVESRM: Wik, ES. [ LEE, </strong>

<ul>

<li><strong>4ti&: ESTFPURFEBREXRRENFENRLXE, </strong></li>

<li>< stronglj >EE: FRUWREFHELETTEHTENEN, ERAXESEEHASERFENTE.
/strong> </li>

<li><strong>[B) L3R EZEHREEFERSIAMAGRENSR, REXFEZ5|IBAEBAESX
VEARRRZERI A FRATTE. </strong></li>

</ul>

</li>

</ul>

<p><code>RAEHE T LIRA=FM, FlABEBER— MRS PERSE—ANZESCI B
AERNGSR, ANMIAEHITARRITS, </code></p>

<p><code>¥Flavams, BESSAIEINEERE—NERN: SERWSRE|IARES I AFENSE
5 | FIXISRAVREIMANE S | ERRENRE TRIERIRRRTTE, (BEX MEERBRDELIREE
KpENIRY, BEE R FRBEAITE. </code></p>

<h3 id="HENRAXERRUEHA-FiE-"> <strong>HRANRAAESNFRNZMHA (Hik) </st
ong></h3>

<ul>

<li> <strong>E—BRZF[EN SRP(Single Responsibility Principle) </strong>**<br>

ok XNTIRERSE—, FeEB %R, RIS, **</li>

<li> <strong>FHESAER OCP(Open - Close Principle) </strong>**<br>

**’;_*_ —’Mﬁﬂf@?ﬁ@%ﬁﬁiﬁ’ﬂ, XTHEXREHAR, BEEIITIREARIRE, BEEW, 17, —FH
RRE. **</li>

<li> <strong>EETE#HEEN LSP(the Liskov Substitution Principle LSP)</strong>**<br>

****I FEAT AR HIMAE R LR AT, LA REERRIFE XN R TE. 1Bla~~
*</li>

<li> <strong>#K§#{EZ/EN DIP(the Dependency Inversion Principle DIP)</strong>**<br>
ok SERIRAERAROZKE T RERAEIR, A JEBRAZAER TSR, HSRAROZKE T BRSEI
BRSEIMNIZAKE TSR, RIREEERFETEA, MAERIREBEMIFRY, iRt EAR
SR, TEBEMN x &, xx M, xx &, (FEKBITHSREFEA, MARIRE x 789, **</li>
<li><strong>#EO95EEN ISP(the Interface Segregation Principle ISP)</strong>**<br>

O RIHITRASN SRFE R P ERARAEOIRA— MERIEARYT. Sl — M FRE1THE
, BB, IEkEDRE, XV IIRERDARRYEN, E—MEOBREFRIZ. **</li>
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</ul>

<h|3 id="HSRSEFIEORIXILL" > <strong > SRR ORINILL < /strong > </h3>

<ul>

<li> <strong> SR ANMIEFENBAFURN. BORMRGENESR. </strong></li>
<li><strong> MIZITEERIR, HMSEEXNRNMSER, 2—MERIRT, EOTANESR, —
TS, </strong></li>

</ul>

<p><strong> <strong>#HE s </strong> </strong> </p>

<ul>

<li> <strong > OIS IEBABESL AL </strong > </l >

<li> <strong > EPAIF 4R AR, FTFHEMSCIla4x % </strong > </Ii>
<li><strong>#EEHEHE, HFEEUINESXLMSRGiA</strong> </li>

</ul>

<p><strong> <strong>A[E s </strong> </strong> </p>

<table>

<thead>

<tr>

<th><strong>£#§</strong></th>

<th> <strong>hg3E </strong> </th>

<th> <strong>#[]</strong> </th>

</tr>

</thead>

<tbody>

<tr>

<td> <strong>7=BH </strong> </td>

<td> <strong >S5 2EEMA abstract XEF B </strong> </td >

<td> <strong>#£{#F interface XE=FmBE</strong> </td>

</tr>

<tr>

<td> <strong>3LH </strong> </td>

<td> <strong>F(EF extends XEFRUFMEL, MREFLFRMEINNE, THERIG
KHErARIAIYTI ARSI </strong > </td >

<td><strong>FfEF implements XEFRSCIUZO. ©F eettZOE ARG ARISTI
/strong> </td>

</tr>

<tr>

<td> <strong>#4i&8§ </strong> </td>

<td> <strong > SR LIGHIIESES </strong> </td >

<td> <strong > BEHB1AIERS </strong> </td >

</tr>
<tr>
<td> <strong>if[af&{HeHT </strong> </td >

<td> <strong> g EFHF AT LARERHENEIHRTF </strong > </td >
<td> <strong>EOFERBMEIRFTE public, FHFEARTIFEN S private && protected</strong
</td>

</tr>

<tr>

<td> <strong> 4k < /strong> </td >

<td><strong>—KEZ RpeE— M5 </strong> </td>
<td><strong>— KA LASEII S < /strong > < /td >

</tr>

<tr>

<td> <strong>=FE&mERE </strong> </td>

<td> <strong> S ENFRERTLIZESRI</strong> </td>
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<td> <strong>EONFEREVAERE static 7 final f</strong></td>

</tr>

</tbody>

</table>

<p><strong> <strong>#&iF¥ </strong> </strong>**: Java8 PRSI ANBIAGEFERSHIE,
SRR MRS IO Z ENER. **</p>

<p><code>IfE, FHATTLUAEORMEEOASTIRGET, FEARARESITFIERILINE, </code><

p>
<ul>

<li> <strong>EOFIMSEZBMER, EEOFNMSSAEERELE, YWRBFIXE—NER: </stro
g>

<ul>

<li><strong>{TARENIZEEBESEOMARMREEN, LUBERNTEARZEO, REVH
%K, </strong></li>

<li><strong>IEFEMSEMMREEERNTER: FEEXFETH, XEITFERMERRIT

. </strong></li>

</ul>

</li>

</ul>

<h3 id="EBEFHSLEEMLXFI-" > <strong > E@EFHMSLEMLXBI? </strong></h3>
<ul>

<li> <strong>EBEABEEESHMERAE, HSETUESHSGIE. </strong></li>
<li><strong>SEARBEEIZLHIY, TBEERTLABERSLBIE, </strong></li>

</ul>

<h3 id="152Re(F A -final -{&1MI3-" > <strong > S EEEAEF final {&IMIB? </strong></h3>
<ul>

<li><strong>Age, EMHMSEFMBILEMEMED, WNRENA final IZEFAGEM MR, XEFER
MEFEFE, Fild final AgeEimig2E </strong> </Ii>

</ul>

<h3 id="RIE— IR ATAXBEF-XRLF SR 5 | FHEEAR-" > <strong > BIE— ISR BT
KEF? WRLFSWRS|IBEAIARR? </strong></h3>

<ul>

<li><strong>new X#EF, new SIEEXISRLA] (WRIBITEHERTFF) , MWRE|IBIEAXISRA (
S5 |REMERNES) . —PMIKRSIFAFTLIER 0 a1 ™MNSR (—IRETFIUARSER, ALl
—’|\|’—=uﬂ?) —RALE n PNEIEERE (LA n REBFRE—TSEK) </strong> </li>
</ul>

<h4 id="#3i1&88-constructor-E B #ES-override-"> <strong>#3i&28 (constructor) 2&E
E5 (override) </strong></h4>

<ul>

<li> <strong>FNEEFABEM AR, EABEWES, EJLIHER., </strong></li>

</ul>

<h4 id="&%#k-Overload-f1E5-Override-PIX 5l -B# Y5 BB TRIBIR BIZRELHITX 55" > <stro
g>E# (Overload) F1&EE (Override) HIXEI. BTG AERRBIREIRELHITXS? </stron
></h4>

<ul>

<li> <strong> A ENEHMEEHBELNZSHAN, KITETRIELMSRENISZSME, m
ELRETHINZESME. </strong> </li>

<li><strong>E#;: REER—NEP, HEBERASHGIRAR (SHEEEAR. MIAR. I
ARE) . ERRREWEFGEHERFRTTEXR, BIESIG I AFGERIEIREISEEATX S </strong> </li>
<li><strong>EE: REERXFRY, HiEHR. SEFIFRIER, REHENFEFFTEE, #HAY
BINFETRE, HEEmRFATETRE (BERMAIREREN) ; RREGEHHERRFA private
FERAHRARES., </strong></li>

</ul>

<h2 id="38-TE-/5/%"> <strong>2, TE, Fi&k</strong></h2>
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<h3 id="HARRERZE-"> <strong>HARAZPZE? </strong></h3>

<ul>

<li><strong>fx Java 1, AILUE— 1 ERUENBES I —MERIENXNER, XFE </strong> <str
ng> <strong>MAEPZE </strong> </strong>**, AEPEASMEXN—NEMN, SEHMBEMEENS
—5, **</li>

</ul>

<h3 id="REREMDLEHWFLE" > <strong> WEPEAID LEBWRLE < /strong > </h3>
<p><code>WEBEALAD AR : L RAERE. BEPAERE. ERAZPRMFFSHEE ", </cod

></p>
<h5 id="EEWERE" > <strong > FHERFRZE </strong > </h5>
<ul>

<li> <strong>EXIERREPAIFFSR, BEEFSAEPER. </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"
t radius = 1;

</span></span><span class="highlight-line"><span class="highlight-cl|">

\Y

private static i

</span></span><span class="highlight-line"> <span class="highlight-cl">  static class Stat
clnner {

</span></span><span class="highlight-line"> <span class="highlight-cl"> public void
isit() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.o

t.printIn("visit outer static variable:" + radius);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code> </pre>

</li>

<li> <strong>FHSAEREALUGESMEREMBRYEHSEE, MIARILIRINRRRARFSEE; S
EBERIEIFES T, </strong><code>new HMERE EHSAERSE() </code> <strong>, #ITF: </stron
>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> Outer.Staticinner inner = new Outer.Staticlnner();

</span></span><span class="highlight-line"> <span class="highlight-cl"> inner.visit();
</span></span></code> </pre>

</li>

</ul>

<h5 id="BRAEEZE"> <strong > L RMWELZE < /strong> < /h5>
<ul>

<li><strong>EXERNEL, MRUE EAAREFEE, MEMRRERE. </strong>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-c|">  private static
nt radius = 1;
</span></span><span class="highlight-line"> <span class="highlight-cl">  private int co

nt =2;
</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> public void
isit() {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> System.o

t.printIn("visit outer static variable:" + radius);
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</span></span><span class="highlight-line"> <span class="highlight-cl"> System.o
t.printIn("visit outer variable:" + count);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-c|"> }

</span></span></code> </pre>

</li>

<li> <strong>pRNEREAILALIASMEREFTBRIZETE, SEEFSHIERRS, FAEHNAA. ik
PIEBSAKAL THNERSRAISESI, BRIEIETIIV</strong> <code>SMEBZESEA.new RIEBSE() </code><s
rong>, W1F: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> Outer outer = new Outer();

</span></span><span class="highlight-line"> <span class="highlight-cl"> Outer.Inner inner
= outer.new Inner();

</span></span><span class="highlight-line"> <span class="highlight-cl"> inner.visit();
</span></span></code> </pre>

</li>

</ul>

<h5 id="/EFEpRERZE" > <strong > FEEHZPZE < /strong> </h5>
<ul>

<li><strong>EXETEFHINERE, FEFEAELE. </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl"

</span></span><span class="highlight-line"> <span class="highlight-cl"
a=1;

</span></span><span class="highlight-line"> <span class="highlight-cl">  private static i

t STATIC b = 2;

</span></span><span class="highlight-line"> <span class="highlight-cl|">

</span></span> <span class="highlight-line"> <span class="highlight-cl">  public void tes

FunctionClass(){

VvV Vv

private int ou

</span></span><span class="highlight-line"> <span class="highlight-cl"> intinner ¢
3;

</span></span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> private vo
d fun(){

</span></span><span class="highlight-line"> <span class="highlight-cl"> System
out.printIn(out_a);

</span></span><span class="highlight-line"> <span class="highlight-cl"> System
out.printIn(STATIC_b);

</span></span><span class="highlight-line"> <span class="highlight-cl|"> System
out.printIn(inner _c);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> Inner inner
= new Inner();

</span></span><span class="highlight-line"> <span class="highlight-cl|"> inner.fun();

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">  public static vo
d testStaticFunctionClass(){

</span></span><span class="highlight-line"> <span class="highlight-cl"> intd =3;
</span></span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> private vo
d fun(){
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</span></span><span class="highlight-line"> <span class="highlight-cl"> // Syst
m.out.printin(out_a); fRiFEIR, EXAEFFSTEFRIBEATLAILEINBEAISLSIZE
</span></span><span class="highlight-line"> <span class="highlight-cl">System.out.printin
STATIC b);

</span></span><span class="highlight-line"> <span class="highlight-cl"> System
out.printin(d);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> Inner inner
= new Inner();

</span></span><span class="highlight-line"> <span class="highlight-cl"> inner.fun();

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span></code></pre>

</li>

<li> <strong > XAESLH75EFPRIF LT LALRINBRRIFBE R EMTE, EXERFSTETH
FRRRBEHIRINEBRAIBHSEEMNT A, BEREREAICIESI, AEXYNITIER, </strong><code
new RIEB2E()</code> <strong>, d0T: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public static void testStaticFunctionClass(){

</span></span><span class="highlight-line"> <span class="highlight-cl">  class Inner {

</span></span><span class="highlight-line"> <span class="highlight-c|"> '}
</span></span><span class="highlight-line"> <span class="highlight-c|">  Inner inner =
ew Inner();

</span></span><span class="highlight-line"><span class="highlight-cl"> }

</span></span></code></pre>

</li>

</ul>

<h5 id="ER&REE"> <strong>EBZRWEPZE </strong> </h5>
<ul>

<li><strong>ERZNLEMBIRERFHINELE, HEFAPERRILLRS, </strong>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl">  private void te
t(final int i) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> new Service(
</span></span><span class="highlight-line"> <span class="highlight-cl"> public vo
d method() {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> for (int
=0;j &t i; j++) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> Syst
m.out.printin("E&AEEE" );

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl|"> }.method();
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //E&RIEEW

s SE— 1 ERREN

</span></span> <span class="highlight-line"> <span class="highlight-cl">interface Service{
</span></span><span class="highlight-line"> <span class="highlight-cl">  void method();
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
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</span></span></code></pre>

</li>
<li><strong>fR7TIRBEF, EBRIRAEBLUTER: </strong>
<ul>

<li> <strong>E&NEBROMME— MARKEHE ST —MEO.  </strong></li>

<li> <strong> BB NEPEABEE MAHTFFSRFIEFS 7L, </strong></li>

<li> <strong> SFENG N SHEERER NIRRT, KSR final, </strong></Ili>
<li><strong>ERNEBRFRERHRA, CRNELIWRRIZEEE SCMATZORFIEHSRTE. </
trong> </li>

</ul>

</li>

<li><strong>EZAEBEEIETT: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> new /4200

</span></span><span class="highlight-line"> <span class="highlight-cl"> //E&RZBZC
2653

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

</li>

</ul>

<h3 id="PEBEANLR" > <strong > NERRAIL R < /strong > </h3 >

<p|> <code>FHAIAHAEFRNERRER? BACEBLUTUR: </code></p>
<ul>

<li> <strong>—"AEEIRATLUGAIEIEZERIFMERENRIINE, SEFAEEIE! </strong></li

<li><strong>NEBEA IR —BRIEMEEER, BEBRIFAIEEM; </strong></li>

<li> <strong>WEPEEMELI T "SEMWE" |, UL java BYRERIIERE. </strong></li>

<li> <strong>EZREBEAI LIRS EINENXENE, </strong></li>

</ul>

<h3 id="EREEMLN AIFR" > <strong > NEBEEMLER FAiZ S </strong> </h3>

<ol>

<li> <strong>—EZEEIHE </strong> </li>

<li> <strong>fRR—LAFERNIRANEAIR, </strong></li>

<li><strong>EAFERANEER, EENBEMRENEEY EIE. </strong></li>
<li><strong>ZENERTERIIMNEE, FHEEMMAIKRERR. </strong></li>

</ol>

<h3 id="/FEREREFES NERRESHEERRHE- AT AT EWREN Lfinal-" > <strong>/F
RERRFIER RERENREREEREE, AHTAZEVRENL final? </strong></h3>

<ul>

<li> <strong > FEBAEBRFNER WEBRNRIESIPEENIHE, ATAZTEVREN L final 1B? ER
[RIEZ(AR? SFeEXERNIG: </strong>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl">  void outMeth

d({

</span></span><span class="highlight-line"> <span class="highlight-cl|"> finalinta =

0;

</span></span><span class="highlight-line" > <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> void inne
Method(){

</span></span><span class="highlight-line"> <span class="highlight-cl"> System
out.printin(a);

</span></span><span class="highlight-line"><span class="highlight-cl"> }
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</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code> </pre>

</li>

<li><strong> A EBIF, FHAEM final 1IR? 2FEJ9</strong> <strong> <strong >4 ApEIHAAR

5 </strong></strong>**, SEEREEGHIERT, MTENITERE, IF final KSERERH,

HE. RPN REREEENS | RRAFE, WRENBEERRRBEEN, MadE. M7

final, AILAMBRETNEBEERNZESIHENFPEEX DT, BRTXNEE, **</Ii>

</ul>

<h3 id="REBRER-BREFRBEBITER" > <strong>REEIEXR, BIEFRHIE{TER </strong>

/h3>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl"> private int age
12;

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> private int ag
=13;

</span></span><span class="highlight-line"> <span class="highlight-cl"> public void pr
nt() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> int age =
</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out
printin("/F#83EE: " + age);

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out
printin("REETE: " + this.age);

</span></span><span class="highlight-line"> <span class="highlight-cl|"> System.out
printin("4NE2EZ5 & " + Outer.this.age);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> public static vo

d main(String[] args) {
</span> </span><span class="highlight-line"> <span class="highlight-cl"> Outer.Inner i
= new Outer().new Inner();

</span></span><span class="highlight-line"> <span class="highlight-cl"> in.print();
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">}

</span></span></code> </pre>

<p><strong>IE{T4EER: </strong></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">EEEE: 14

</span></span> <span class="highlight-line"> <span class="highlight-cl">N&EETE: 13
</span></span> <span class="highlight-line"> <span class="highlight-cl" >4 & 12
</span></span></code> </pre>

< hr? id="RREZESHPEENXFITWL" > <strong> RZESFEFZERIXBIFWL </strong
</h3>

<ul>

<li><strong>%&: EREFHITHIIERES, AR NEERNEETURESENE., NARELEH, T
HIRAFHAI—/MRXIE </strong> </li>

<li><strong>pREZE: J3iEINEB, KAFENAIZE </strong> </li>
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<li><strong>FaEE: KAITEFHIZE, </strong></li>

<li> <strong> L RZEFFEZEIX 5 </strong> </li>

</ul>

<p><strong> <strong>{ERA1E </strong> </strong> </p>

<ul>

<li><strong>pRTE: FRIENEER., </strong></li>

<li><strong>FETE: REENCERBN. (—KRIENHMESIEIETKRR)</strong> </li>
</ul>

<p> <strong> <strong>7Ffi{i& </strong> </strong> </p>

<ul>

<li><strong>RETE: EEXNSICIEMFE, BEENRIVERMBER, FHEEHERTFH. </stro
g></li>

<li><strong>FEP3eE: E5AHAM, HEBTEHUTHITRGE, FHREERNET. 2548
58, EBOSRE, MBEMER. </strong></li>

</ul>
<p><strong> <strong>4:ap/EHA </strong> </strong></p>
<ul>

<li><strong>p R E: EEXNSRAEIETMFE, BENRRNBRMAEXR</strong> </li>
<li><strong>FEfEE: SFAREAT, HEEUERE, MENER. </strong></li>

</ul>

<p><strong> <strong>#JIR{E </strong> </strong> </p>

<ul>

<li><strong>pRETE: BEIAFIAE. </strong></li>

<li><strong>/FEPEE: FBIMANIGE, FRRIWAWE. </strong></li>

</ul>

<h3 id="fJavadbENX — M HEEIZESHAWIETZNER" > <strong>#E Java FEN—1AR
E%iﬁﬁ SEHIIETT AR EA </strong></h3>

<ul>

<li> <strong>Java FEFFERUT FRAVEIET AR, WRIKBA super()RERAL R ERIEIES

. WSREABREF "SBESHRWIEDE" . B, NRLEKHPRENTESHNIGESE, MEF
AR TSR NIRE R super(RIEIRAREHIFERIEIETE, NRFRNSAREREIR, E Java i
RERPHARNRBSEHRIGE D AT, BRINERERREN E— TS RIRBESHaEE
%, </strong></li>

</ul>

<h3 id="TERABAFRENEL AZAIRTRARKIRBSHAIEIETD - EBRNZE-"> <strong>EiEH
EKEEZRIRTARRKRESEHNNEERDE, EBRIZ? </strong></h3>

<ul>

<li> <strong > #EE)FRMABHTIIE, </strong></li>

</ul>

<h3 id="—EAWNET FAWERR M A-E— RSB RIS &- e FRE LEFHITIS- A4
<strong>—REVEIETZRIERRMA? E— 1N EERPWEIESE, SFEFREEHRITIES? A
A? </strong></h3>

<ul>

<li> <strong> FE{FARFEMXIRIIRAWIAN TIE. LT, RA— P XKEFE B EBAES
méi—“lﬁ AR ANTSERIEIETT IR, </strong></li>

</ul>

<h3 id="tgi&75; ZBMBLAFIE-" > <strong > IS T ZBPRLARFIE? </strong></h3>

<ul>

<li><strong>BF53818E; </strong></li>

<li> <strong>;&BIREWE, 1BABELH void FEREMNEREL; </strong></li>

<li> <strong >4 RRAINISRET BT, TTHRIEA. </strong></li>

</ul>

<h3 id="ESZEFLHIZERXE]" > <strong > KL EFLAITERXF </strong> </h3>

<ul>
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<li><strong>#STE: HSTERTABTHOILAINSG, BTFEN, FRLAERFEFRESE—H
FERRINNENERES, VM RABSTEDER—IRAEFEZE. </strong></li>
<li><strong>3LfIEEE: BREIENSR, A INROERRETENFTE, LHTEERRET
1§U5®‘|§§H’\J, FEARFPR, BERILRNS, SMBJLIDHRRETE. </strong></li>

</ul>

<h3 id="BETESEBTEXE]"> <strong> ST ESEBLTEXS </strong> </h3>

<ul>

<li><strong>static TEHIRMEEHFSTE, FSTEMIRRSTENXEIR: HSTERTERIN
FIE=R, ERFEHFRE—EIER, BHENSERVIRINERRNSEIIRM. mIFESTEEXNSRAH
B, FERIEMSINEHERAIG, FESITEIR, STUSBERIEIRERM, </strong></li>

<li> <strong>EFH—RFHZ static ALRZEATIMUITFRIRE XHIRFFEHITH0%EM. </strong></
P>
</ul>

<h3 id="§#&ITiEMLBITEZBAARE-"> <strong > FHE T EIEHTEBEAR? </strong></h
>

< p|> <code>ESIT AL AIT AR BIEERINAR N SE: </code></p>

<ul>

<li><strong>TESMEBEMRRRS/TARS, AILMER"RE 754 " HIA, BaLIER"WRE 558"
B MEHGEREREEXMAIN. BHER, ERFESHETULHRLIEYSR. </strong></li>
<li> <strong>8#STAELIAIAEAIRRES, IAFDIIRERSKR (BIFHSAREENFHSTIX)
ﬁ'ﬁZilﬁ:ifFiE [BISEBIpk R EFLHITTE; LT ENITCIEBRE </strong > </li>

</ul>

<h3 id="E—"E#SHEREA— M EBERSRRNTARIEERY-" > <strong>FE— 1M EE5T0ZRNE
—MERSHRRATARIRER? </strong></h3>

<ul>

<li> <strong> BFFSHARURNBIIN SR TAEAR, EESHSTIEE, FeeEAEMIRESE

. WARLUAEARESSEEMEA. </strong></li>

</ul>

<h3 id="(t A2 ZREIE-REHERERRMTA-"> <strong >+ AR 77 EZRNREE? REHERIE
BA4? </strong></h3>

<ul>

<li> <strong > 75iZANREIEZIEFN BRREINEN T AAFRUCBHITEFERER!  (FIiRR1Z
%Ejl‘a‘EF_i._%%) . IREERMER SR, HEEILIRATRAARIE! </strong></li>
</ul>

<h3 id="HARWEBZE--"> <strong >+ AR AERZ? </strong></h3>

<ul>

<li><strong>7£ Java 1, BILUE—EAYENBERIM—DERIEN R, XeiZ </strong><str
ng E} < stronlg >WERE </strong> </strong>**, WEBEABHER—NEY, SEMBIEENT
—2q. *k o / i>

</ul>

<h3 id="AEBEAID B WFLE-" > <strong > NEBERAI D EBWLE < /strong > </h3>
<p><code>REREALAZ AU : *pRAERK. EEAERR. ERBREREMEFSAEE . </cod

></p>
<h5 id="E#EREZEZE-"> <strong > EFEWIERSE < /strong > < /h5>
<ul>

<li> <strong>EXTERREPAIEFSE, BEEFFSAEPE. </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">  private static i
t radius = 1;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">  static class Stat
clnner {
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</span></span><span class="highlight-line"> <span class="highlight-cl"> public void
isit() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.o
t.printIn("visit outer static variable:" + radius);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span></code></pre>

</li>

<li> <strong > E#SABBRATLURIESNERRFIBRIEHSEE, MANRINIENIRSSERE, &S
BBRAICIETTT, </strong><code>new FMERZE FHESMAFBSE() </code> <strong>, WIT: </stron
>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> Outer.StaticInner inner = new Outer.Staticlnner();

</span></span><span class="highlight-line"> <span class="highlight-cl"> inner.visit();
</span></span></code> </pre>

</li>

</ul>

<h5 id="pRAEBZE-"> <strong > B RIERSE < /strong > </h5>
<ul>

<li><strong>EXEENER, RRE LAVIFERSSE, MEMRANERE, </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"
nt radius = 1;

</span></span><span class="highlight-line"> <span class="highlight-cl">  private int co
nt =2;

</span></span><span class="highlight-line"> <span class="highlight-cl|">

\%

private static

</span> </span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> public void
isit() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.o
t.printIn("visit outer static variable:" + radius);

</span></span><span class="highlight-line"> <span class="highlight-cl|"> System.o

t.printIn("visit outer variable:" + count);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code> </pre>

</li>

<li> <strong > plRAEBEETLAUG Y MERREFERIZE DA, BIsFSHIRsS, FMETAHE. M
PIBBEMRIT-INEBRSRAISERY, BRIBETTT(</strong> <code>4MNaBEsEffl.new FIER3E() </code> <s
rong>, f0TF: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> Outer outer = new Outer();

</span></span><span class="highlight-line"> <span class="highlight-cl"> Outer.Inner inner
= outer.new Inner();

</span></span> <span class="highlight-line"> <span class="highlight-cl"> inner.visit();
</span></span></code></pre>

</li>

</ul>

<h5 id="F&BAIERZE-" > <strong>FEBAIERSE </strong > </h5>
<ul>
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<li><strong>ENXEAEFRINERS, MERBEPAELE. </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl"> public class Outer {

</span></span><span class="
</span></span><span class="

a=1;

</span></span><span class="

t STATIC b = 2;

</span></span><span class="
</span></span><span class="

FunctionClass(){
</span></span><span class=
3;

</span></span><span class="
</span></span><span class="

d fun(){
</span></span><span class=
out.printin(out_a);

</span></span><span class="

out.printIn(STATIC b);

</span></span><span class="

out.printIn(inner c);
</span></span><span class=

</span></span><span class="
</span></span><span class="

= new Inner();

</span></span><span class="
</span></span><span class="

</span></span><span class=
d testStaticFunctionClass(){

</span></span><span class="
</span></span><span class="
</span></span><span class="

d fun(){
</span></span><span class="

highlight-line"
highlight-line"

highlight-line"

highlight-line"
highlight-line"

"highlight-line"

highlight-line"
highlight-line"

"highlight-line"
highlight-line"
highlight-line"
"highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
"highlight-line"
highlight-line"
highlight-line"
highlight-line"

highlight-line"

><span class=

><span class="
><span class="

><span class="
><span class="

><span class=

><span class=
><span class=

><span class=
><span class=
><span class=

><span class=

><span class="
><span class="

><span class="
><span class="

><span class=
><span class=
><span class=
><span class=

><span class="

"highlight-cl”
highlight-cl”

highlight-cl"

highlight-cl”
highlight-cl”

"highlight-cl”

"highlight-cl"
"highlight-cl”

"highlight-cl”
"highlight-cl”
"highlight-cl”
"highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
"highlight-cl”
"highlight-cl”

"highlight-cl"
"highlight-cl”

highlight-cl”

\Y

V

private int ou

private static i

public void tes

}

int inner ¢

class Inner {
private vo

System
System

System

}
}

Inner inner

inner.fun();

public static vo

intd =3;
class Inner {
private vo

// Syst

m.out.printin(out_a); fRIFEIR, TEMXEFSHEFHEEBER TLA»E@@I**‘B*EI’J;M&J“‘“E
highlight-line"> <span class="highlight-cl"

</span></span><span class="

STATIC_b);

</span></span><span class="

out.printin(d);
</span></span><span class=

</span></span><span class="
</span></span><span class="

= new Inner();

</span></span><span class="
</span></span><span class="

</span></span><span class=

highlight-line"> <span class="highlight-cl"

"highlight-line"
highlight-line"
highlight-line"

highlight-line"
highlight-line"
"highlight-line"

</span></span></code> </pre>

</li>

><span class=

><span class="
><span class="

><span class="
><span class="

><span class=

< li> <strong > & MAESLHI 755 RIBERE AT LA MBSRAIFTE 32

BRSBTS TEIGE. BEIRERRRICIES N, EXNAERA,
new AREB2E()</code> <strong>, a1

</strong>

"highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl”
highlight-cl”
"highlight-cl”

>System.out.printin

>

>

System

}
}

Inner inner

inner.fun();

BMEiE, EXERSETH

</strong><code

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public static void testStaticFunctionClass(){
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</span></span><span class="highlight-line" > <span class="highlight-cl">  class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">  Inner inner =
ew Inner();

</span></span><span class="highlight-line"><span class="highlight-cl"> }

</span></span></code> </pre>

</li>

</ul>

<h5 id="EZREE-"> <strong>EZREEZ </strong> </h5>
<ul>

<li><strong>ERZNIPRMEREBZFHIATER, BEFAPEBIILLESZ, </strong>
<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl">  private void te
t(final int i) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> new Service(
{

</span></span><span class="highlight-line"> <span class="highlight-cl"> public vo
d method() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> for (int
=0;j &It i; j++) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> Syst
m.out.printin("EBE&REEE" );

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }.method();
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span> <span class="highlight-line"> <span class="highlight-cl"> //E&RZEN

PExESEM— N ERRYEN

</span></span> <span class="highlight-line"> <span class="highlight-cl">interface Service{
</span></span><span class="highlight-line"> <span class="highlight-cl">  void method();
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span></code> </pre>

</li>
<li><strong>fRTIRBEF, EBRIREBLUTRER: </strong>
<ul>

<li> <strong>ER& N RAR— MASERE LI — MEO, </strong></li>

<li> <strong>ERNEBEAREE MAHAEHSARIEFSITIE. </strong></li>

<li> <strong> SFERGEII S HBERER NIRRT, KIER) final, </strong></Ili>
<li> <strong>ERNEPRARERHRA, CRNESLIWRRIZEEE SCMATZORNFIEHRTE. </
trong> </li>

</ul>

</li>

<li> <strong>EFZWEEEIEST,: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> new Z&/#E{

</span></span><span class="highlight-line" > <span class="highlight-cl"> //E&N&FE5C
#Bo

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

</li>

</ul>
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<h3 id="RERLEAILA-"> <strong > REBEMILE < /strong> </h3>
<p|> <code>HAITAHL2EFERARERRE? RABBLATMIR: </code></p>
<ul>

<li> <strong>— " REBRIKRALUGRICZERIINPENSRHINE, BEFABEEE! </strong></li

<li><strong>REBRA IR —BRIEMREFN, BEBRFAIERIE; </strong></li>
<li><strong>MEBEBILIN 7 "SEME" |, il java BARATERFE. </strong></li>

<li> <strong>EZREBEA LIRS EENXENE, </strong></li>

</ul>

<h3 id="PEPEBEWLR AFHR-" > <strong > WEREBRRLLR A7 S </strong > </h3>

<ol>

<li> <strong>—&LE X7 & </strong> </li>

<li> <strong>fRR—EAFERNIRANEAIR, </strong></li>

<li><strong>1ESEMAEEEE, EEUBENRENEET B, </strong></li>

<li> <strong>SJFEANKIRT ERIFNERR, FEREMAISEERRS, </strong></li>

</ol>

<h3 id="/SEREREFER RNERE RS EERIEHE- AT AT EVREN Lfinal--"> <strong>
ENEEMERRERRNREEZERIEHER, AT AZELRENL final? </strong></h3>

<ul>

<li> <strong > FEBNEEFIEZNERENRBELTEAIRNE, ATATEXRENL final 1B? BER
[FIEERHANR? SeEXRIAS: </strong>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public class Outer {

</span></span><span class="highlight-line"><span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl">  void outMeth
d({

</span></span><span class="highlight-line"> <span class="highlight-cl"> final inta =
<,/span> </span><span class="highlight-line" > <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"><span class="highlight-cl"> void inne

Method(){
</span></span><span class="highlight-line"> <span class="highlight-cl"> System
out.printin(a);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl|"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span></code></pre>

</li>

<li><strong>LAEHIF, AHHAEN final IB? 2E&9</strong> <strong> <strong >4 apEHIA
[ </strong> </strong>**, FESEEEEEFEENRT, SLEMTERG, IF final KEEREEER
e, TRE AT BHE RS kAT, RSHNELSARBNTRA, ot 17
final, AILABREFTNEERERNZESIHNENFREX DT, BRTXMNEE. **</Ii>

</ul>

<h3 id="REBREXR-BEFRHEITER-"> <strong> WERFIER, BEFRHEITER </strong
</h3>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Outer {

</span></span><span class="highlight-line"> <span class="highlight-cl"> private int age
12;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> class Inner {
</span></span><span class="highlight-line"> <span class="highlight-cl|"> private int ag

=13;
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</span></span><span class="highlight-line"> <span class="highlight-cl"> public void pr
nt() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> int age =
<,/span> </span><span class="highlight-line" > <span class="highlight-cl"> System.out
printin("/ZEPEEE: " + age);

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out

printin("AIEREETE: " + this.age);
</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out
printin("4pEREEEE: " + Outer.this.age);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> public static vo
d main(String[] args) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> Outer.Inner i
= new Outer().new Inner();

</span></span><span class="highlight-line"><span class="highlight-cl|"> in.print();
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">}

</span></span></code> </pre>

<p><strong>i{T4ER: </strong></p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cd">BFEETE: 14

</span></span><span class="highlight-line"> <span class="highlight-cl">N&BsT=E: 13
</span></span><span class="highlight-line"> <span class="highlight-cl">4M2sZE: 12
</span></span></code> </pre>

<h2 id="314-1-OR" > <strong>3Z{4. 1/0O ifi</strong></h2>

<h3 id="Java-HEJLHEERYR-"> <strong>Java FHJLFPSERATR? </strong></h3>
<p><strong>M\BINEILHSERS:  Java PEBANRMELIR </strong></p>
<p><strong>\ithImtS o=V ER . Java PEFHIRFARR </strong> </p>

<p> <strong> S FETHRM S FEMEAIHSSEN InputStream FI OutputStream</strong> </p

<p><strong> W FEFFARM S FEHEAVIMSRSEN InputStreamReader 1 OutputStreamReder</
trong></p>

<h3id="5— " FA-MA— SN — P FREB-FIIXA TR BEX D AP HIEIREL-"> <st

ong>5—"1gi%, MA—IMNHB—1F/HE, FHXNFRBEXNFFHIAIREL. </stro
g></h3>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl"> public int countWords(String file, String find) throws Exception {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> int count = 0;
</span></span><span class="highlight-line"> <span class="highlight-cl"> Reader in =
ew FileReader(file);

</span></span><span class="highlight-line"> <span class="highlight-cl"> int c;
</span></span><span class="highlight-line"> <span class="highlight-cl"> while ((c = in.
ead() != -1){

</span></span><span class="highlight-line"> <span class="highlight-cl"> while (c ==
find.charAt(0)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> for (inti
= 1; i &lt; find.length(); i++) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> c =in.
ead();

</span> </span><span class="highlight-line"> <span class="highlight-cl"> if (c!
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find.charAt(i)){
</span></span><span class="highlight-line"> <span class="highlight-cl"> bre

<’/span> </span><span class="highlight-line"> <span class="highlight-cl"

\%
—~—

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (i =
find.length() - 1){

</span></span><span class="highlight-line"> <span class="highlight-cl"> co
nt++;

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-c|"> }
</span></span><span class="highlight-line" > <span class="highlight-cl"> return count;
</span></span><span class="highlight-line"> <span class="highlight-c|"> }

</span></span></code></pre>
<h3 id="Java-F/EALIiE-ByteBuffer-"> <strong>Java F/EABI&E ByteBuffer? </strong></h3

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">byte[] bytes = new byte[10];

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">ByteBuffer buf =
yteBuffer.wrap(bytes);

</span></span></code> </pre>

<h3 id="H-5-F-10-HR{ESLE-FZ-"> <strong>¥itH 5 5% 10 AURIESLH(EE) </strong> </h
>

<p>**10 X Java M FBRIMREIFEER. HEBR T, (RAMZERNBRIXBIRE L **</p>
<p><strong>kER 10 (F, TEE—LIRAIZEREA Java |0 R{ELEE: </strong></p>
<p><strong><strong>1, </strong></strong>** EABEFXAY 10 3£, TAZRIMRIEEFT
FR, **</p>

<p><strong><strong>2, </strong> </strong>** {§FH NIO # NIO2**</p>

<p><strong> <strong>3, </strong> </strong>** {£ finally tRepXKFR, EE&EER try-with-res
urce iB4], **</p>

<p><strong><strong>4, </strong></strong>** {FIPITFRREY STHIRENERAY 10, **</p>
<h3 id="Java-#1-10-i#&5o AJLFh-" > <strong>Java & 10 i A LFN? </strong></h3>

<ul>

<li> <strong>1ZBRmAYRED, FLAD/IMmNmAIELR; </strong></li>
<li><strong>IZIRBRIFERTTHT, LIS AFTRIFHRRR, </strong></li>

<li> <strong>IZIRRAIAEL D AT RIRAILIER. </strong></li>

</ul>

<p><code>Java loifittiZ 402K, XLRF FRRIFEL, (BXfR HBEEMN, mBRItLZEEF
EIE%%‘EE’\JH%,%, Java I0RAT40Z M EE RN T4 MBS SRR PIREHSRRY, </code></p>
<ul>

<li><strong>InputStream/Reader: FFERYMINRAVESR, BIBEFTRAR, BEERFHFEAR
</strong></li>

<li> <strong>OutputStream/Writer: FIEHILIRIVESR, RIEZEFHRLR, FEEEFMAHELIR.
/strong> </li>

</ul>

<p><code>IIBIEAN D KEME: </code></p>

<p><code>FR{FXISROLEEMIE: </code></p>

<h3 id="ii¢)ava- IO ERIE WR-F1iR-FHhR- 50 -SLWE- 77/ ABEZE" > <strong > 3K Java 10
BEENENE, FHiR, FROR. 80O, SHE, HiAHEZE</strong></h3>
<p><strong>BNRAEMINEHBAZINZ, BHREESMRFRHEIE., </strong>**<
r>

**<strong>10 BBEEIAZE, F—EIKHREE IO RPEREE, 10 REELH AFRRNFTMR
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</strong></p>

<p><strong>ZFFRPBEHEE InputStream #1 OutputStream, E{iJ89FE FilelnputStream, Fi
eOutputStream,BufferedOutputStream &, </strong></p>

<p> <strong>=FfFi7 BufferedReader 1 Writer &, &BSCINT Closeable, Flushable, Appendable
JZ%’E%EI EFPEANEHERLURIFERER, RPRFISE E28EF 3. </strong
**<pr>

**<strong>java FRIBEZEIFARIEEIEFFRASUTER, YRS SIEA AsEGUEEAN
REEHHEE, BSUEFS—BEFERETZE0L, AT TERNED., il read()f readLine()
%, </strong></p>

<h3 id="FFERMFTmAETAKH-"> <strong>FFFRFFLRATAXE? </strong></h3>
<p> <strong>=FimATERMFER S ASCI RIS, JAVA tBXFE{BRIZRF0 Unicode, 7
EVELE Unicode RIS, JAVAIESSINTFRM. ASCII{EA Unicode B9FE, MF&RIEF
RIS, BILMERF LR A LUERZF /AR, </strong></p>
<h3r:d=“?*ﬁiﬁ%u?ﬁﬁ-ﬁ%@%ﬂﬂﬁ—ﬁ\-“ > <strong>FHRAIFRRR, REEWH—? </stron
></h3>

<p><strong> BEXMERFHA, WFESETRRPFEIGIE, FHRPFFE. HAIEH Buffere
Reader fA~2 BufferedInputStream g DatalnputStream, BEHFEE— </strong> <code>re
dLine()</code>** 3 ABTERICALT; XEban BufferedWriter B —NMREIASU4BEN—
BITRTE newline() FERIEENF—7, (BREFHHPRIIBEMEIMIEE, ~</p>

<h3 id="System-out-printin--2{+4-"> <strong>System.out.printin)2(+4? </strong></h3>
<p><strong>println & PrintStream A9—NAiL., out 2— 1M PrintStream 2R R TS,
ystem 22— java.lang BHRIZE, BTFHIREANRERFAH#ITRE., </strong></p>

<h3 id="H+4Z&Filteriiz-"> <strong>{t+42 Filter iii? </strong></h3>

<p><strong> <strong>1, </strong> </strong>** Filter Stream 2—#f 10 i/z, ****<br>
<strong> <strong> <strong>2. </strong></strong> </strong> Filter RAIEE(ERAR: <stron
> <strong> <strong > X TFERYRIGII—LLERSMYINEE < /strong > </strong > < /strong >, &G BTR
HHEMESF P AR TEL, SEIEIMENAYMRE, **</p>

<p><strong>Filter Stream 2—#H 10 ifi, Filter RRYEZE(FRAR: WFENMIEII—LEINITH

. RS BRSUHEINRS P AFERYTE, SEIEIENAIMEE. £ java.io BHEZER 4 A FARY
filter Stream 2HpY, FNFT filter stream, FNZFERF filter stream, 25I2: FilterInputStream,
ilterOutputStream. FilterReader 1 FilterWriter, </strong></p>

<h3 id="EWLEE] AKIFilter7i-"> <strong > EWPLEETFIRY Filter iii? </strong></h3>
<p><strong>7f java.io BFFFEER 4 NI filter Stream AHRY, FWNFT filter stream, WA
5 filter stream, 98IR: </strong><code>FilterinputStream</code> <strong>. </strong> <
ode>FilterOutputStream</code> <strong>. </strong><code>FilterReader</code> <strong
F1</strong> <code>FilterWriter</code><strong>, </strong></p>

<h3 id="BHpLEFilterRAYFZE-"> <strong > BBLE Filter iRAYFSE? </strong></h3>
<p><strong><strong>1, </strong></strong>** <strong><code>LineNumberlnputStrea
</code></strong>: GBS INTS, ****<br>

<strong> <strong> <strong>2, </strong> </strong></strong> <strong><code>DatalnputSt
eam</code></strong>: BLFFRAYFTELN: readint(). readDouble()f readLine()Z&aILA—IR
AIEEN—™ int, double F0— string SEBUAVEHRE, ****<br>

<strong> <strong><strong>3. </strong></strong></strong> <strong> <code>Bufferedinp
tStream</code> </strong>: 1E0MEEE, ****<br>

<strong> <strong><strong>4. </strong></strong></strong> <strong> <code>PushbackIn
utStream</code> </strong>: ¥EEXERHNFHEIRGH, **</p>

<h3 id="7E3 {4+ WAYEHE-B—Fpin A B R E S aIMRE-"> <strong>#E </strong > <strong > <s
rong>3{#HE I </strong > </strong> <strong > AIEHER, B—FERAI BT RFAESAIMRE? </stron
></h3>

<p><strong><strong>1, </strong> </strong>** EFT5RAVAHE, {FF BufferedinputStream
#0 BufferedOutputStream, ****<br>

<strong> <strong> <strong>2. </strong></strong> </strong> EFZFHRAANZ, {FHH Buffere
Reader #] BufferedWriter, **</p>

<h3 id="JavardRifRAYEE-- - 19 SIS - T EHWPLEARL---" > <strong >Java HifiAY</strong >
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strong> <strong>i#3& </strong> </strong>** (<strong> <strong> <strong>1J 95 </stro
g></strong> </strong>) FEHPFLLER? **</h3>

<p><strong><strong>1, </strong> </strong>** <strong><code>java.io.InputStream</cod
></strong> (FREAR) ****<br>

<strong> <strong> <strong>2, </strong></strong></strong> <strong><code>java.io.Out
utStream</code> </strong> (FHkHR) ****<br>

<strong> <strong><strong>3, </strong></strong></strong> <strong><code>java.io.Read
r</code></strong> (ZFFHINR) ****<br>

<strong> <strong> <strong>4, </strong> </strong></strong> <strong><code>java.io.Write
</code></strong> (FRIEIHIR) **</p>

<h3 id="FilelnputStream#JFileOutputStream2{t+4-"> <strong>FileInputStream #[ FileOutput
tream E(A4? </strong></h3>

<p><strong><strong>1, </strong></strong>** XEFEFENIHEFRIRHR, LERTAIRD
. ****<br>

<strong> <strong><strong>2. </strong> </strong></strong> FEQME/NSTHRIRHE, B89
BERMIAASE, EAHRIRHR, &IFEER** <code>BufferedInputStream</code> <strong> (8
/strong> <code>BufferedReader</code><strong>) #1</strong> <code>BufferedOutputStr
am</code> <strong> (8¢</strong> <code>BufferedWriter</code> <strong>) </strong></
>

<h3 id="BIO-NIO-AIO-BHAKX%I-"> <strong>BIO, NIO, AIO BHAKXHI? </strong></h3>
<p><strong>3%kTF Java FEY 10, MEEBIEREZES=F: 10, NIO F1AIO, </strong></p>
<p><img src="https://Id246.com/images/img-loading.svg" alt="img" data-src="https://b3lo
file.com/file/2022/04/solo-fetchupload-1362079767711659255-4723a2fd.png?imageView2/2/
nterlace/1/format/webp"> </p>

<p><strong><strong>1EMHR: </strong></strong></p>

<p><strong><strong>BIO, </strong></strong>** IEFTFIEERL, WRSERRBEREKX,
EimieEEa, SRDSHEER, *<br>

<strong><strong>%fl. (FRIEIERE, REEPBILEE, TAatlAT, REREREY, #HE
MEE </strong> </strong> <br>

<strong> <strong> <strong>NIO, </strong></strong></strong> {FRTIEEHENRZHIE
BHELLBAERIZEMS, ELUNBIRARSS 28, WiEtbREZ:. RRLSAFEZERY***<br>

<strong> <strong>%l: {REIBIERTE, AEMAILERILY, In—=)UBEIRIER—7, REF
%, </strong></strong><br>

<strong> <strong> <strong>AIO, </strong></strong> </strong> iEFFEEHEZMEIEE
[EHSAYZRYS, LLaniEmmiRsSas, FeoEM OS 25H KR, RIZVRER., BRAIFEERN. <
r>

**<strong >34l IRIEFTERIRAAIR, BATEIBIRIORIE, L) lAImEk, (R O5 LEaTLL

o FUTHE, </strong></p>

<p><strong><strong>1, 10 ([EFPEE) </strong></strong></p>

<p> <strong>{EFRIMEBITEE, FE BIO, RS 10, HEILHMERSiHEIE—1 ServerSoc
et, AEFMEEFiRE— Socket KIEZIRSZIHAYABA ServerSocket, ServerSocket 1ZUEIT—
AUEZEBRAEE— Socket FI—MEAZEIRAR Socket HTIEIN. EEEFURIIIRSS mAET
EXEE, BPRAE—MER, RS Socket HTAMEERENMA, ERMLRER], ZFUHHR
MIEEERS, ENSBEMAT. XMAORR, 81 EFRREN, HBREERSImEIE—
HIERIRSZIXNE s, XHABEP KRR, MeEMRSHNSIZHETEAE T TESE
B, XA RERIENRS mE IS, RERItE, </strong></p>
<p><strong><strong>2, NIO ([E#3EEZE, JDK1.4) </strong></strong></p>
<p><strong>NIO 2—[EFIFREEE 10, BT Reactor RELKSLIRY. HSLBITHME—1 izt
AENZFRIER, BE—MFEEIEAER channel, 8XHIKE—HEZHR channel, SAiF
BMERBIN—NEAZCIERIE], XBEAROAEIEZE, HER selector —PMEAEFAILANMSER1E
hannel, FIMEEFIREXREASIEE, BEFSIE, AATHESSF—THENNE. XEREL
10 FIOIE, — M EFHANERNZZEEEERTRE, RELETFEE—MEIEA, T
BEFIREE TR —, REEFnEENARERIHEA LEER, SIE—MEiERIEER

</strong></p>
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<p><strong><strong>3. AlO (NIO2, ®#3FfEZ, JDK1.7) </strong></strong></p>
<p><strong>X$F NIO Kift, FAIRWSHIZRME 10 BIEERIFE, BB, EEMNBEXNE
B1Ti#1T 10 #B(E, 10 B{EABRRZTH. BEX AlO ki, WEMHT—F, BEAEE 10 ERF
HENSE, e 10 BFER5xhE, BaEiERHEN. FL A0 2AR<MHEZER, LAIEAIRY
FSEEIGTR— M EERE, F5 10 BMFxkfE, BRFEBHMA. </strong></p>
<p><strong>5 NIO A&, HHITEEERIER, RUEEER APl B9 read 5 write 737ARIA], X
MITEIIARLER, MWTRREMNS, SERENE, BERFEGEIZAIREN read 5iERE
X, FHBHNARER, NTEERENS, JRMERRE write TIXEBRIRE N, B#MERREE
BN FRRER. BIETLAIERME9, read/write J3i5EBRFHEM, STAfa=EaNEARIEERE. £ JDKI.
., XEDRBEHFRE NIO.2, FETE Java.nio.channels @ EINT TEENRESEE: </strong
</p>

<U?>

<li><strong>AsynchronousSocketChannel</strong> </li>
<li><strong>AsynchronousServerSocketChannel</strong> </li>

<li> <strong>AsynchronousFileChannel </strong> </li>

<li> <strong>AsynchronousDatagramChannel</strong> </li>

</ul>

<p>** AIO 2RIFEEE 10, T Proactor {22, SMERREIRKNEK, ERUPE—
uffer, AEBHRMFRAETAFEANE, XMHEIRSATLAXMEMAISEE, FEIRIFRF TR
&, MSERRRED, SRR ERARDIEHIEIE. XM IHEFHE LAZRERH T, B
RS, AEEENEE, FEFRERIERK— Buffer, IHRERFEERNE, 555 7 KERNUR,
WIIEEE buffer 771£, HUEERRET buffer KEpIEE. **</p>

<h3 id="i#NIO" > <strong>iffift NIO</strong></h3>

<p><strong>FT—EYE, E5H 10 REEBXR, =—BEEF— ServerSocket, TEEH rea
A, tte—BEFIEURRERERTX BRI 1RE], </strong></p>

<p><strong>EH accept tLR—HEEREEFimEEAIREl, 8PMERmERIERE, RS
HEBN—PMEEELEZEFRINER, FESEENES NEER, SN EEREE CITEHF
AL CPU Bf[Al, 8NMEEBRIINIRESFINE, B, HENERMESTRAE
HFE TSI, </strong>**<br>

<strong> <strong>XJF NIO, BRIEEEL, 3 </strong> </strong><br>

<strong> <strong><strong>1, </strong> </strong> </strong> Buffer AFFERIRIAZETURML (
uffer)EBEz4E, ****<br>

<strong> <strong><strong>2. </strong> </strong></strong> Charset &R iRILMRR
71'_;:****<br>

<strong> <strong> <strong>3, </strong> </strong> </strong> Channel —f9/RA /0
, FBFIEE Buffer K8, BEALUASNE—EE, JLURINSERE, BEFHERMNBIEE,
/p>

<h3 id="FilesBYE /5 x&BAMELL-" > <strong > Files FYE A REREWLL? </strong></h3>
<ul>

<li><strong>Files. exists(): @M HIRZREFE. </strong></li>

<li> <strong>Files. createFile(): 634, </strong></li>

<li><strong>Files. createDirectory(): 8JiE3{43, </strong></li>

<li><strong>Files. delete(): MfE— 1 EHakBEH, </strong></li>

<li> <strong>Files. copy(): E#lI314. </strong></li>

<li><strong>Files. move(): #&&x4, </strong></li>

<li><strong>Files. size(): BEENXHANEL, </strong></li>

<li><strong>Files. read(): EEf4. </strong></li>

<li> <strong>Files. write(): EAX{4. </strong></li>

</ul>

<h3 id="Java-#-10-Fio A Li--"> <strong>Java & 10 ifio A LFH? </strong> </h3>

<ul>

<li> <strong>1ZRmAYRED, LD BMNmAIELIR, </strong></li>

<li> <strong>ZIRIBMFERTI S, UKD AFTRFIFFAR, </strong></li>

<li> <strong>ZIRMAIA XD AT RIRAILLER. </strong></li>
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</ul>

<p><strong>Java lo fiALE K 40 2038, XESEE FERZEL, BLREREEMN, MRtttz
FEIFERENERR, Java 10 AT 40 S EEENNT 4 MASSEEEFIREHHKAT, </strong
</p>

<U?>

<li> <strong>InputStream/Reader: FIEMBARAVESR, BIZEFDEAR, BEEEFHEAR
</strong></li>

<li> <strong>OutputStream/Writer: FTEHIHIRAVESR, AIEEFHRLR, SEEEFRHRmLNR.
/strong> </li>

</ul>

<p><strong>IFREF D REMIE: </strong></p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="" data-src="https://b3logfile
com/file/2022/04/solo-fetchupload-1629230763333340864-0bf72d85.png?imageView2/2/int
rlace/1/format/webp"></p>

<h3 id="EAINIOIEZEREHLL" > <strong>FE WAY NIO 1EZEBHELL < /strong> </h3>
<p><strong><strong>1, Mina</strong></strong>** **</p>

<p> <strong>Mina & Apache HR—NFAIE, BATFFASMEEE NS BERIME LN BER
HTIFEFEFIREZE, HarkITHI Mina kR 2.04 SZHETF JavaNIO AR TCP/UDP RFEfEFFF
. BO@ETRER, Mina FrszFAYThee it —L2RI B, </strong></p>
<p><strong><strong>2, Netty</strong></strong>** **</p>

<p>**Netty E—XRLAISHIXNRIMBSN FEZRNTIE, BT REFAITEFNSEE. & E
NN IRSEBFIZ iR, HHELRIR, Netty 2— NIO ZFim/IRSSSIELR, SIFRE. ERtFFAN
NZFE, SN ARSSRRFNE Fim. BRKE T WE&SmIE, 0 TCP #1 UDP EEFRSS=E. **</p>
<p><strong><strong>3. Grizzly</strong></strong>** **</p>

<p>**Grizzly R—FNAEFER, EIRRENT_ LHRFIEAERSS SR ER ST,

F3 JAVANIO 1EuEY, FIEEREZENSRE. S2ERIISHEERY APl HEIFEZE socketd Z
WAMER. FIRASMEERE PR P EIRERSMRERIZER. **</p>

<h3 id="Java-10-FHgIHER --Era-"> <strong>Java 10 FRGZIHER? (E&) </strong></
3>

<p><strong>ERZRFFA MR KIMRIAIEECEFRT, </strong></p>

<p><strong> <strong>&EiMET{: </strong></strong>** 7£H InputStream, OutputStream,
eader #1 Writer {RIVFREIAER, B —LRMIERT LS 5 —Limit ER 2= InER,
1. BENE TR RS, <br>

<strong> <strong> <strong>&HCEHET(: </strong></strong> </strong> 7EH InputStream,
utputStream, Reader #1 Writer (UERRVFREWAEL, B—LRAERREXTE 2 RR0mALIEEERY
Bo, X SEECRRAINAE. **</p>

<h3 id="fE3 4 NWRYRTR-IF—FEn A TR T B S AIMERE--" > <strong>FESHFE AR, 1B
%Ellijlﬁﬂﬁﬁﬂéﬂ%%’?ﬂ’ﬂﬁﬁ%? </strong></h3>

<ul>

<li><strong>EF AR, A BufferedinputStream #1 BufferedOutputStream, </stron
></li>

<li><strong>TEFFFRAIRHE, A BufferedReader # BufferedWriter, </strong></li>
</ul>

<h3 id="{RiR &% -Piped-Stream-" > <strong >t Bi&7 (Piped Stream) </strong></h3>
<ul>

<li><strong>BPUMEER: </strong><code>PipedinputStream</code><strong>, </stron
> <code>PipedOutputStream</code> <strong>, </strong><code>PipedReader</code> <st
ong>#1</strong> <code>PipedWriter</code><strong>, </strong></li>

<li >I <strong>ESNMEIZHEPEBEENITREERIFEEA. </strong></li>

</ul>

<h3 id="itiiFile2&" > <strong>idii File Z£</strong></h3>

<ul>

<li><strong>EAETF 10 i, BAREHEFEHEIER, </strong></li>
<li><strong>BEEBEZRTRE— " NHHNEMLE. EER. KNFHSR</strong></li>
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</ul>

<h2 id="53"> <strong> [z 53 </strong> </h2>

<h3 id="(+ARRFNH-"> <strong>HARKREGIHHI? </strong></h3>

<ul>

<li> <strong>JAVA REIHFEIZEEITRES, MTHEE—1E, EPEEBIIEX N EARE B
% WTFESR— MR, #BEBERACHER— AR, XSRS RIAR SIS E A
RY73iARYTORERR /Y java IBSRIREIHH]. </strong></li>

<li> <strong>ESIRIFFFNSIRIFE </strong >

<ul>

<li><strong>##SRiE: EMFITHESRE, FPEXISR </strong> </li>

<li><strong>zZliSHRiE: TITHRESRE, FEXIS </strong></li>

</ul>

</li>

</ul>

<h3 id="REFHNHELIRR" > <strong> RFIHFIERR < /strong> </h3>

<ul>

<li><strong> <strong>{fii=: </strong></strong>** IZ{THASEELRTAIMT, BASMNEEE, RS
RimE. **</li>

<li><strong><strong>fiRr3: </strong></strong>** {4REHRIN: REVEST—RIIRERE(F,
VM Z2HAIEE, 4RetbEERY java RIDEIERES. **</li>

</ul>

<h3 id="RGHHIRIN FZRBWPLE-"> <strong > REIEIRINBAREWL? </strong></h3>
<ul>

<li><strong> RETEREZRIRITAIREE. </strong></li>
<li><strong>EHATFRIMEFARSRES, EA LROSERERZIRIG, EXAEERBR
MEiSEHR, SR EERERIT. FRESRINEIEX, fIIERMITTA, BEREERRX
FEHRE, iSREBRHEXERA T RS, EEHIIBE[ERL Spring / Hibernate FEEZEE
EfERETRFNE, </strong></li>

<li><strong>#: @ A IEER JDBC EZEWERRIEA Class.forName ()BT REIINEETER:
WaiERr; @Spring MELRBAEIRS RIS, REHAIHME xml BIEER, Spring i@id XML
B4k Bean RITE: 1) BIEFWFTE XML 8 Properties BELEXAIIEAAEFT; 2))ava 258
REAT xml % properties BEIFINZ, S2IRINSLAKINFHIBFABIUARBRNBEILES, 3)EAR
AU, HRIEXANFRIERIRIERE KA Class Lfl; 4)ahSEELGIRIEME </strong> </li>

</ul>

<h3 id="JavafkEN BRI =F1757%" > <strong>Java SREURSIR=F75i% </strong> </h3>
<p><strong>1.18d new XSRS 2.8 BEETIR SIHE 3181 252 TR S < /str
ng></p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public class Student {

</span></span><span class="highlight-line"> <span class="highlight-cl"> private int id;
</span></span><span class="highlight-line"> <span class="highlight-c|">  String name;
</span></span> <span class="highlight-line"> <span class="highlight-cl"> protected bool
an sex;

</span> </span><span class="highlight-line"> <span class="highlight-cl"> public float sco
€

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span> <span class="highlight-line" > <span class="highlight-cl">public class Get {
</span></span><span class="highlight-line"> <span class="highlight-cl">  //3REXsz 5315
M50

</span></span><span class="highlight-line"> <span class="highlight-cl"> public static void
main(String[] args) throws ClassNotFoundException {

</span></span><span class="highlight-line"> <span class="highlight-cl|"> /AR —(&8
ZAVAOEY)
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</span></span><span class="highlight-line"> <span class="highlight-cl"> Student stu =
new Student();

</span></span><span class="highlight-line"> <span class="highlight-cl"> Class classob
1 = stu.getClass();
</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.pr

ntin(classobj1.getName());

</span></span><span class="highlight-line"> <span class="highlight-cl"> //BERZ (B
BITIEZ-TEXII’R)

</span></span><span class="highlight-line"> <span class="highlight-cl"
Class.forName("fanshe.Student");

\%

Class classobj2 =

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.pr
ntin(classobj2.getName());

</span></span> <span class="highlight-line"> <span class="highlight-cl"> /IBR= (&
£2)

</span></span><span class="highlight-line"> <span class="highlight-cl"> Class classobj3 =

Student.class;

</span></span><span class="highlight-line"> <span class="highlight-cl"
ntin(classobj3.getName());

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span></code></pre>

<h2 id="=fF&8" > <strong>=FfF& < /strong> </h2>

<h3 id="FFEBEEMNFHFHEEENXA]"> <strong>FHRHEENFFHFHREENKXS </strong> </
3>

\

System.out.pr

<ol>
<li><strong>f/a\ b FRAHEERE5|SIIEN— T/ FRHEBEERNS|ISIIRINETIMFR </t
ong></li>

<li><strong>& X b: FRHEEBXT—IEREASCI &), ISNERERZE ZRHREERET—
HIHE (ZFRFERERNFRFRILE) </strong> </Ii>

<li><strong> SRFAXN FHEERS—F0 FHEEELE TITFOEL—IFRERITG) <
strong> </li>

</ol>

<h3 id="HARFHEEENL-"> <strong>HTARFFFEFEEH? </strong></h3>

<ul>

<li> <strong>FRIBEEMUTERNFFR, TIRRFEFAEREE, JLURSRFRIERAR, &
TR ZREEFEERNFR S, EEEFRNEN VM SEREFHEEED, WRXFHFHED
T??I':Ei’@EF', WIREERISIA, NRAFE, WF—=FrrEnElits, FREIESIA. </strong
</li>

</ul>

<h3 id="String-2HEARIEIEZLEING" > <strong > String EHEEARIEIESLEING </strong> </h3>
<ul>

<li><strong>F 2. Java FPEARFIEEEHE 8 4 : byte, short, int, long. float, double
char, boolean; BRTEARZER (primitive type) , RITHIEBRS|FZEE! (referencetype) , Java
L‘,U'El_ SINAKES R B B B —FRECBAFIRRYS | FBSREY, </strong></li>

</ul>

<p><code>XZREMAVEKI, ERRSWFENESZBN, Java i 8 FIEARLUERE FAELE Str
ng, EAZUEREFERMANATIERZ char, BERERBERTENZFR, tkin &' , ' 2
B, WNEREBHEA—ERNA, MEEASA char KERITE, WHE— char KBEA, than "{reF
MaEKE 200 char\[\] chars = { {}X" , %' };</code></p>
<p><code>BEFERAEAEIT T M, ATLARAB T String, String JRERE— char ZRBIH9E14A,
AR AEANFTEZEERERERE, BENEENSRIR S FRFERRIER., </code
</p>

<h3 id="StringBHPLLAFH" > <strong > String BIBLESFIE </strong> </h3>

<ul>
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<li><strong>AZ4%: String ERIEFFAFER, 2— P HER immutable 395, XYEHITHTERE
HEREE— ISR, BESIRERZER. AREANEEFRET I I NRFERSEL
HEFMERERY, STLARIESURN—EUE, </strong> </li>

<li><strong>EEHUL: String WREEZ 5, REFHREELTHTER, NRTXEER
RXISEY, SEEREIEFRISIA. </strong> </li>

<li> <strong>final: {#A final RENX String 2, F7R String ERBEWMIK, 1R T RFEHNZ SN
</strong></li>

</ul>

<h3 id="String A+ A BRI THING-"> <strong>String AHARFATZTHING? </strong></h3>
<ul>

<li> <strong>BSERGHIE String ZEFIAT final (2IHAY char KEELERMEFFF, IREDUINEIRTLL
</strong><br>

<strong>/</strong> The value is used for character storage. <em>/ private final char value[]
</em>*</li>

</ul>

<h3 id="StringER 2R THING-"> <strong>String EREARATZTHING? </strong></h3>

<ul>

<li> <strong>FHGMRA AR NIRANE, BEATRHALULY ., TERRLEARERITEN
HRBIF: </strong></li>

</ul>

<p><strong> <strong>1 String AEIZ{EAMES |FHAALAZE </strong> </strong> </p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">String str = "Hello";

</span></span> <span class="highlight-line"> <span class="highlight-cl">str = str + " World
</span></span><span class="highlight-line"> <span class="highlight-cl">System.out.printin
"str=" + str);

</span></span></code> </pre>

<ul>

<li><strong>%58: </strong><br>

<strong>str=Hello World </strong> </li>

<li><strong>f##fr: </strong></li>

<li><strong>3LhR £, JRK String IABEAZR), RZE str AFEKIER"Hello"RINTFHELIEE /9T
"Hello World"RIRTEIBIITIE, Bl SHEE T —RAFXIEL "Hello World"#RFE8, </strong
</li>

</ul>

<p><strong> <strong>2. 1B REFEATLUERFTBRY "AAJE" X5 </strong></strong></p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">// CUEE=F#FE"Hello World", FI#¢A5|MHs

</span></span><span class="highlight-line"> <span class="highlight-cl">String s = "Hello
orld";

</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">System.out.printin
"s="+5);// Hello World

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">// $XBXStringZ&r
value=FEg

</span></span><span class="highlight-line"> <span class="highlight-cl">Field valueFieldOf
tring = String.class.getDeclaredField("value");

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">// ¥XZvalue/g%
IR BR

</span></span><span class="highlight-line"> <span class="highlight-cl">valueFieldOfString
setAccessible(true);
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</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">// $kEXsXi5: Ffiva
ueEERYE

</span></span><span class="highlight-line"> <span class="highlight-cl">char[] value = (cha
[1) valueFieldOfString.get(s);

</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span><span class="highlight-line"> <span class="highlight-cl">// 2tz valueFr3|
RUSEPRISE SN AT

</span></span><span class="highlight-line"> <span class="highlight-cl">value[5] = ' ';
</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span> <span class="highlight-line"> <span class="highlight-cl">System.out.printin
"'s =" +5); // Hello World

</span></span></code></pre>

<ul>

<li><strong>458: </strong><br>

<strong>s = Hello World s = Hello World </strong> </li>

<li> <strong>fi#tfr: </strong></li>

<li> <strong>ARSIEILUBRIFAB G, AERETH String XI578Y value BtE, #HmmsEEL
15RY value 5| RBGETEARIEN., (BE—RBIIFASXAM, XERZEBRE—TEXMERA, </str
ng></li>

</ul>

<h3 id="E&aJLA4K-String-2£" > <strong > 2& AT LA%K String Z</strong></h3>

<ul>

<li> <strong>String &2 final 28, RAJLAARR, </strong></li>

</ul>

<h3 id="String-str--i-5-String-str-new-String--i--—#£158-" > <strong > String str="i"5 String st
=new String( "i" )—#M5? </strong></h3>

<ul>

<li> <strong>F—#, EARFENSESRA—HE. String str="I"095, java EIWSIEESHE

E iR, 1M String str=new String( “i" ) MEHDBIERFFH, </strong> </li>

</ul>

<h3 id="String-s---new-String--xyz---BI#& 7 JLNFRFEIIER" > <strong>String s = new String
“xyz" )8l T LN FRFERIR </strong > </h3>

<p><strong>BMER, —MNEBSKE xyz", —MNEM new BIETEHE LAIRISR. </strong></p

<h3 id="9TKEFFFERREE-"> <strong > INTEFFRFER/REE? </strong></h3>

<p> <strong>f#F3 StringBuilder 8¢& stringBuffer B reverse() /5i%. </strong></p>

<h3 id="#BH;88-length--75i%-String-B;&F-length--75i%" > <strong > #1588 length()
i%? String Bi%E length()/5i%</strong></h3>

<ul>

<li> <strong>#4R;8HE length()/5i% , A& length BEHE, String & length()/5i%, JavaScript F
&?%?ﬁ%ﬁ’ﬂﬁfﬁ%ﬁﬁ length BIHE2IRY, X—RBHH Java iBi&. </strong></li>

</ul>

<h3 id="String-XMIFE T EEREIBLLE-" > <strong>String AIE AT AEREARLE? </strong></h
>

<ul>

<li><strong>indexOf(): IREHEEFFAIZS], </strong></li>

<li><strong>charAt(): IREEEZRSMIFRF. </strong></li>

<li><strong>replace(): FRFEEM, </strong></li>

<li> <strong>trim(): ERFFRFEMIHTH. </strong></li>

<li><strong>split(): DEIFFHFE, RE—MDEIGRIFRELE. </strong></li>

<li> <strong>getBytes(): IREIFEFFEAY byte S5HIEH, </strong></li>
<li><strong>length(): IREIFZFEIKE, </strong></li>

<li><strong>toLowerCase(): BFE=FFHREEM/NEFE, </strong></li>
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<li><strong>toUpperCase(): BFFFRrREMKEFER. </strong></li>

<li><strong>substring(): &EFRTE, </strong></li>

<li><strong>equals(): FFEBLLE., </strong></li>

</ul>

<h3 id="7&f#EF-HashMap-g9rf{®- - String-ff-key- B+ AFLL- " > <strong > & sEF HashMap

A%, F3 String 4 key BAF4L? </strong></h3>

<ul>

<li> <strong>HashMap ERLIEET key B9 hashcode EHTE value FIFEMENE, EAFFH

AEJERRY, FRLAHEIRERFRFER, B/ hashcode EF TR, AHFEEXITE, FrLAMBELFHEMBRS

BiR, </strong></li>

</ul>

<h3 id="String#1StringBuffer-StringBuilderfX 3,21+ A4-String I+ ARAAT A" > <strong > Str

ng #0 StringBuffer, StringBuilder BIXBIZE{tA? String IHARARIZEA </strong></h3>

<p> <strong> <strong>a] & </strong> </strong> </p>

<ul>

<li> <strong>String KRHPEAFRHFEERFFRIER, privatelfinalicharivalue[], AfLA string X35

AnjZHy, StringBuilder 55 StringBuffer #B4k#&E AbstractStringBuilder 2§, 7 AbstractStringBu

|der b 2 ERFAEERTFFHIER, charl] value, XFMIIREBZAIEAI, </strong></li>

</ul>

<p> <strong> <strong>&FE% £ </strong> </strong></p>

<ul>

<li><strong>String PSSR EATTZRY, thFAILIEEAER, &fELE. AbstractStringBuilder

& StringBuilder 5 StringBuffer fBUN3A228, BN T - RIEBRIEAERIE, 4 expandCapacity

append. insert, indexOf &,\#t753%, StringBuffer (4755007 BESEE X AR AN T H

8, FTLARZEZ 2. StringBuilder FRBEXGAHTINELH, FRARIFEERSRY. </stron

></li>

</ul>

<p><strong> <strong>4gE </strong> </strong> </p>

<ul>

<li> <strong>&RXY String SRELHITHERRIANR, #BSER—ERY String X5, AFEEEHE

#HY String X345, StringBuffer 8IREPXT StringBuffer XIS ABHITIRIE, MAREMFAINISR
TYI55|H, 1BEIER FMER StirngBuilder #8EE (A StringBuffer {X8E83X18 10%~15% £ GHY

BElRTT, BAEEZEIEATEMINEE, </strong></li>

</ul>
<p><strong> <strong>XJF=FEMAAYE LS </strong> </strong> </p>
<ul>

<li> <strong>WNREWR(F D ERVEWER = String</strong> </li>

<li> <strong> BBLFRIRFFRFERENX TRIEREEYE = StringBuilder</strong> </li>
<li> <strong> ZLEFREFFRHFBRENX TRIEREEUE = StringBuffer</strong> </li>
</ul>
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